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1. Which among the following word is not part of the definition of cducation given by

Pestalozzi ?

(1) Natural development (2) Harmonious development
(3) Social development (4) Progressive development
Frafafas & @ @S9-a1 o Sersh g & T Ren @ ogieamn &1 e
T 87
(1) sepfcrer feprey (2) ATHSTEYol T
(3) MR g (4) sTfaeher faeprd
2. Which among the following aspects of philosophy deals with teaching and Icarning ?
(I) Mectaphysics (2) Epistemology
(3) Axiology (4) Acsthetics
3 & FrefiRad eqell & @ Be-a1 REeT ok des & wdfer & 7
(1) TaH™ET (2) ST
(3) Heg-Hrmrn (4) dredemer
3.  Which among the following is not an idcalistic thinker ?
(1) Spinoza (2) Descartes
(3) Hegel (4) Dewcey
Fr=fafad & @ @9 TH oTeal faane T8 ® 7
(1) feasirm (2) Fepret
(3) & (4) =

4. Which among the following is not truc as per idealism ?
(1) Ideas arc the cxpression of minds.
(2) Truth is an individual value.
(3) Sclf-rcalization is the goal of lifc.
(4) Intuition is thc way to know the ultimate rcality.
Jreelare & AR fr=fafed & & ® a1 @ 78 B 7
(1) faar 7= Fr orfweafs & |
(2) A TH FARGTT JoA # |
(3) HATH-ARAEHIX ST+ Hl 7T & |
(4) 3iasi= IXH qREfaear B ST B ALID B |

PHD/URS-EE-2022/(Education)(SET-Y)/(A) P.T.O.



5.

Which among the tollowang s frae aboul rcahsm
2 1x the ultimate product of hife.

(1) Bducanaor

ncral

s the cnistence of abstract things.
20 W ok sroend us s the workd of objects and not of ideas.

e a=Ta I PR A g R ?

T TSSOSO s I

2T F mwes o SEES 3299 £
= == o= F FEw T KR Al 8|

= 39T IO 2

ted by Herbert Spencer, which one of the

S concepe of ‘complete life’ sugges

Szl know ledge (2) Self-preservation
31 Upbringing © 1 (4) Enjoyment of leisure
== == == === TE 7T TEe’ & iuRen #, frefaiaa § @ fe-ar

= == = s ?

= (2) STH-HETO

3) ==t &= IS (4) FTEHET B AFG

The ammide of placing the child at the center of the teaching-learning process is known

(2) Paidocentric attitude

Przliocentric anmimde
3) Leaming-centric anitude (4) Naturalistic attitude
FrER-EE E Iz 7 %z 3 393 A 7EE % Atagia dear ©
(1) Tz weg= (2) TZEATgE Afaga
(3) Fwm-ZZ= Fiogi= (4) TpiaarE] Aiag

Which idea propagaies “whatever fulfill our purposc, satisfy our desires, and develop

our life is true’
(1) Socialistic Pragrmzt 2) Humanistic Pragmatism

(3) Experimental Pragrozir, (4 Biological Pragmatism

PHD/URS-EE-2022/(Education y(Sy.T.Y WA

10.

11.

12,

DA AT ST HTA B g A mET A EL G AT 2, 2
o S A

ZEIST Bl gL HIAT B, AT FAT AGA w1 FE w2 Az
(1) GuISTETEl =Amasiedn (2) AFAIATHTET ATAZTIHAT
(3) AN ATEBIEHAT (4) FAfg® AFZT7FA1
Which among the following books, is not authored by John Dewcy ”
(2) How we think

(1) Democracy and Education
(4) Reconstruction in Society

(3) Human Nature and Conduct

Preffoiad & @ BE-d1 gEae off4 341 =T 787 e i 2 7

(1) Wepcis SR 3w (2) 29 &5 AEd 2

(3) HFE wHE R A= (4) FETST F AAETT

Who is considered as the propounder of Nyaya Darshan ?

(1) Gautama (2) Kapila (3) Patanjali (4) Jaimini
=T &9 @1 goar fhd "1 S 2 ?

(1) M= 2) e (3) gasireT (4) JE=T

"Brahma is the only ultimate reality, and the world is an illusion” which sub-school of

Vedanta believes in it ?
(1) Advaita Vedanta (2) Vishisthadvaita

(3) Dvaita (4) Dvaitadvaita

TE & UHAH 9T G 8 IR H§ER UH WH & Jerd FHl HE-J1 IIIATE 2
T B ?

(1) T i
(3) =7

(2) farRmerET
(4) Zarada

gested by

Which among the following is not onc of the eight paths to Nirvana. suggested by

Buddha ?
(1) Right Memory (2) Right Eftort

(3) Right Meditation (<) Right Life
wﬂﬂw@dm@%|ﬁmﬂﬂd@wﬂﬁ?&5%xﬂim y
=3rd

(1) @& agia
(3) & &

(2) |E1 w9t
(H F&r Staq
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13.  Which vow of Jainis cans " ake ¢ i i illi ered” , : ; i
ich .,o; of Jainism means "not to take anything that is not willingly offered" ? , 17. Which among the following statement is not true about culture ?
(1) Ahimsa (2) Asteya _ (1) It signifies individual's moral, social and intellectual achicvements.
(3) Brahmacharya (4) Aparigraha _, (2) Itis an integrated system of learned behaviour patterns.
S ogd B P oga H oo B U HE I A O S @1 § 9 & (3) Culture is a complex whole of knowledge, beliefs, art, moral, law and others.
v
B (4) Culture is an individualistic phenomenon.
(1) rEan (2) =g %m@%nﬂ%ﬂ%%%mﬂﬂ%ww
3) === 4) oTaRys ﬁ_vﬁﬂ@%wﬂayﬁﬂg%%%&@%ﬂ%w.
: - ) (2) 7% @ gu FEER Yot B TH THPA Ao B
14. Which q " i i 3 .
ich Indian thinker said "Education must aim at character building of the individual 3) ﬁ.ﬂ%ﬂ 5, e, e, Afce, B AR 1= H1 U SHed HY 1
and promote selflessness and courage" ? i T
D o ﬁvaﬂmﬂﬂw_ﬂ%ﬁﬂw_
(1) Maharshi Arvind (2) Swami Dayananda
(3) Swami Vivekananda (4) Ravindra Nath Tagore 18. Who said that there is no difference between social change and cultural change ?
frT WA FERS X Ber R 7 S2ed @ B aRE PEer ok R (1) Gillin and Gillin (2) Dawson and Gettys
7 T=g B geET 397 My TRy ? (3) Murdock (4) Kingsley Dwas
(1) 7=19 3ia= Q) @l TaE R HET [ AT TRads ol apt aRads § B ST T ¥ 7
(3) = gawe (4) Fo== AT TR (1) PR <A - i
| 3) 9=t® @) o =a™
15.  Which among the following is known for the ideas on pre-primary/pre-schooling ? 1
(1) Maharma Gandhi . ' 19. Which theory is known as the "economic theory of social change" ?
: a Gandhi (2) Gijubhai Badheka . s onal
(3) Swami R (1) Cyclical theory (2) Functionalist theory
) Swami Ramteerth (4) Jiddu Krishnamurti i i
FrerET & & Red P ’ (3) Marxian Theory (4) Conflict Theory
N m,_anw. A S-S /M- e W) RERt $ e s o ¥ 2 Fre Rsid @Y ETEIRTS aREdS P oM RS’ HET S ® 7
. § _m.\ﬂ T (2) FropaTg aereer (1) == i (2) seprEaTdl T
) FHEET THAF : . .
(4) g ForRT (3) e s (4) €= M=
16. Which Indian thinker sajd " .
ich Indian thinker said Nothing can be taught" ? 20. Elcvation of a lecturer to the position of a professor is considered as :
1) Savitri Bzi Pt 3 .ys . .
(1) Savitri Bai Phule (2) Maharishi Arvind (1) Horizontal mobility (2) Ascending mobility
(3) Mahatma Gandhi (4) Ravindra Nath Tagore (3) Decscending mobility (4) Territorial mobility
Eﬁ«ﬂnﬂmﬂﬂﬁwmﬂﬁm&?@gi%% . TR B U I STl TR @l A S E
(1) |ie= aE g7 2) TEfE e (1) At wfRierar (2) STE Tierefier
(3) HBIeHT e (3) SFaET TR (&) smefdrp Tferefierar

\C—Nm Mwm NA‘NN\ ucation fm. ﬂ v / . ,
—V:—v - - AMH_ .H. .. T P _



Al A

in which individuz L L
in which individuals compete 26. Which among the following is not a direction of development ?

91. Who argued that classes develop in market economics,
for individual gains ? (1) Fiiction precedes structure
(1) Carl Marx (2) Sorokin (3) Talcott Parson (4) Max Weber

Wﬁwm%mﬂwnﬂﬂﬁﬁaﬂmﬁa@ww%mﬂm_ﬂﬁ%ﬂw%mﬂ#

= .qﬂlﬂmﬁﬂdﬂwﬂﬁﬂ*%w.x
(2) IRIREA (3) Y@t aET  (4) B FE”

(2) Concrete to Abstract
(3) Egocentrism to Perspectivism

(4) General to Specific
frfetad & O -9 e @1 ’em 78 & 7

(1) M, =T & g8t BN B
) o &/ oTgd

(1) 9 J%H

29 Who wrote the book "Democracy and Education” ?

1) Aristode (2) Plato (3) Dewey (4) Huxley m
TEEE ds ey IR e feaer ? ,, (3) HEBHRAE T IRUEFIA
1) o Q) < (3) 3 (4) TR | @) gmTT & fafre
23. Which article of the Indian constitution talks about the "prohibition of engaging a child | Which stage of social and emotional development corresponds to adolescence ?
below the age of 14 to work in any factory” ? , (1) Autonomy Vs. Doubt
1 ..,ﬂ%b 15 (2) Aricle 21 (3) Article 24 (4) Article 35 (2) Industry Vs. Inferiority
=T FEEE w A A w&&uﬁ ‘14 995 § BT I H I3 Pl hal 7 (3) Identity Vs. Identity confusion
=Em 8 BHE 9 @ W AR B aR T G BT & 7 .
1) T 15 2 N 3 iy (4) Initiative Vs. Guilt
: =) Sig=e 2 g 4) oTg=T 35 QRS S HAaTeHs fAHrT & HA-T1 e heieen § Jd @l & ?
24. Which constnional amendment made education a fundamental right in India ? (1) ¥t S 2
llrm B (2) $4th 3) 86th @) 88th (2) e g9 E EFaT
= rlnnlu F5ET ¥ 9eg § R @ i 2 7 £ 5 (3) 9B 99 YA ¥H
1) 8137 (2) 844t (3) 8647 (4) 88aT (4) 98d g™ 3AUE
25. Which zmicle of t = sy - . i i i
le of the Indian constitution advised that at least primary education be In i?.ﬂw_mm mﬁ following stage of development, a child learns about classification and
reversibility ?

PHD/URS-EE-2022/(Education)(SET.y (4

imparizd in the mother tongue ?
1) Anicle 21A i
) (2) Article 51A

(4) Article 351A
== = =T A9=2 o Lo BN
1S H HA® 4 T R fh oy @ py g R0

(1) #F9==2= 214
(3) srgEze 350 (2) o3 514
) . (4) A2z 35]A

PHD/URS-EE-2022/(Education)(SET-Y)/(A)

(1) Sensorymotor stage (2) Pre-operational stage

(3) Concrete operational stage (4) Formal operational stage

forpry @1 Frfaiad & @ e oraeen § gear @EfieeeT oI IehHviEal & 9
T Hrear B ?

(1) €t UReh avereRT
(3) I IREET aTEreRT

(2) S-SRI AT
() SNg=ies aiREmed STl

P.T.O.
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30.

31.

32.
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Which component of language development refers to rules of appropriate and effective

communication ?
(2) Pragmatics

(4) Morphology

(1) Phonology
(3) Syntax
a7 B e B B Gl HED

Fxar & 7
(1) =< &= (2) =EBIRehdT
(3) THe== (4) STl fasT=

Two factor theory of intelligence was proposed by :

{1) Spearman (2) Guilford
(3) Stenberg (4) Binet |
~ ./ ~ - 7
55 @ o RS el S BT @ ,
= ) FrerE & _
(3) == T @) fRe = A,

Which among the following is not a dimension of emotional intelligence ?
(1) Perceiving emotions (2) Understanding emotions
(3) Managing Emotions (4) Developing emotions
F H B AGTRAS & B A TET 8 7

(1) =E=T=A =1 FEaT (2) AR B FHSAAT

(4) drETeT &1 e Il

(3) A=ETAT FH 9949

"Motivati
mE”E,M.,_c\: Mnnmzm to n.:noEmmo people's inner resources, their competence, self-
" wu. ¥ .é. self-actualization.” Which approach has this view about motivation ?

) Behaviorist approach (2) Humanistic approach
v (4) Attribution approach
aﬁﬂuﬂnﬁiﬂ o ’ e "

R H\j:nuémwm_wmﬁw&ﬂmwﬂmﬂaaﬂﬂﬁww
(1) =F=FEET g (2) T
(3) FsHTH® 2y )
OO IUFTH

(3) Cognitive approach

TN FF

:cz:mm‘_.-ws\t:

A

wmua_ﬂm-m—w-uenn\ﬁwa:ngmo:Xmm,—,-% )(A)

33. The fading away of conditioned response and its disappearance duc to presenting a
conditioned stimulus without unconditioned stimulus, is known as :
(1) Generalization (2) Discrimination

(3) Extinction (4) Spontaneous recover

@m&ﬂﬁﬂ%&%wﬁ%@ﬂ%mﬂﬂﬂﬁam%ﬂ%ﬂw”
(1) aETIHTOT (2) sEHE
(3) fag< & (4) TEaERd IaAT
34. Programmed Instruction (PI) is based on :
(1) Trial and Error (2) Intuition
(3) Classical Conditioning (4) Operant Conditioning
HERRE e @oﬁ@ﬂﬂﬂ%ﬁdwu
(1) 9derer AR i (2) s
(3) FIAhd HSIMHT (4) Sftaie HSIAET
35. Which theory of learning is also known as "Molar Theory” ?
(1) Tolman's Theory (2) Erikson's Theory
(3) Hull's Theory (4) Thorndike's Theory
%@w%@mﬂﬂﬂﬂ%ﬁgﬂ%mﬁw%%ﬂQQWN
(1) <fede & s (2) uReras ® s
(3) & H = 4) osEs H A
36. In Gagne's Nine steps of instruction, the internal process called semantic encoding is

associated with which instructional event ?
(1) Gaining attention (2) Presenting stimulus
(4) Eliciting performance

(3) Providing learning guidance
Feriifecs weRITET AT ST MR fpa ST

F @ PR & A aen A,
ge A I & © 7
(1) &I ST HTAT
(3) fRweror ARTERl S HITAT

(2) SeTEs SEga P
(@) s B S DT

P.T.O.
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37.  According to Simpson. the correct sequence of five stages of creativity is :

. d Nlluminatio 40. Which among the following is not a projective technique ?
aluation, Preparation, an n

(1) Incubation. Revision. Ev

1) Word associationn test (2) Rorschach Ink-blot test
(2) Preparation Incubation, Illumination, Evaluation, and Revision Mww Thematic Apperception test (4) Situational tost
. émati .
(3) Incubation. Revision. Preparation, Niumination, and Evaluation Prefefad § @ PE-|T VAW aebee 787 8 7
. . o |
(4) Preparation. Revision, Evaluation, .Fo:g:o:, and Ilumination ,, (1) ez arEeE e 2) et EE-ereAT THET
_ﬂﬂﬁu%%mﬂﬂ_ﬂmﬁ:mﬂnﬂu:_aﬂﬂﬁ%ﬁw“ | (3) RrsETe arer aETT (4) Refrs= qdeTeT
(1) o, deie, geih, Al S TEBTT .
B . . i ing i tat f probability sampling ?
(2) T, IgHEA, TWEAHIO, T 3 Heire 41. Which among the following is rnot a type MNVHVM ability s ' pling
. < = . imple Rand samplin uota sampling
(3) Tewe, SeEE, AN, WRAHT IR YediHT (1) Simple.Ranfom SAMPHLE . .
e - . (3) Cluster sampling (4) Multi-stage sampling
(4) T, HeieE, gedi, IgHaT AR TEIBIOT 5% B A D 2
38. Which among the following level is considered severe hearing impairment ? (1) &Xe argfess JaferT (2) =rer Fafer
(1) 2010 40 dB in the better ear (3) e FafdT (4) FE-RST HaRT

(2) 411055 dB in th . isti
T in the better ear 42. Which one among the following is not considered as a characteristic of a good
(3) 3610 70 dB in the better ear

sample ?
(4) 711090 dB in the better ear (1) Adequate (2) Representative
T H e W) B TR 2G0T B JET ST & ? (3) Unbiased (4) Small
g 40 S Frefiad ¥ § HE-91 TH e T & faSar & wq F Fgf " o ® 7
(2) ==57 %= F 41 | 55 S (1) Tty (2) wiferrIfer
(3) 7= == & 56 7 70 < (@) Fooo (4, BT
@) =7 == F 71 3 ey
90 St 43. When two questions are merged in one item of a questionnaire, such item is known
39. amni feahiling .. :
Mw@__uoﬁsm Sl inwriing s knowm s : va Loaded Questi (2) Leading Questi
%m@_‘.mmwm 0ade ucston cading uestion
N .
(3) Dyslexia (2) Dysgraphia (3) Double Barrel Question (4) Conceptual Question
w_@wmﬁﬁuﬂﬁﬁﬂﬂy 9 Dysmeia S weERl B uk wE § 4wyl @ fed #x Rar ower ¥ dr Q& A9
(1) feedf ﬁw.m)ﬂgﬁgw“ FHEARI B
(3) Pty 2) TsaEntray , (1) i s+ (2) STel 9+
(4) TR (3) sa@ IS u=A (4) F=iep w9

PHD/URS-EE- .
E-2022/(Education)(SET.y /(o ) PHD/URS-EE-2022/(Education)(SET-Y)/(A) P.T.O.
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47.
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A

A
. e : i facilities i : [
To collect the information about .H:m infrastructure facilities in a school, which of the | a6,
following tool is the most appropriate ?
(1) Questionnaire (2) Schedule . "
(3) Checklist (4) Opinionnaire d
nﬂﬁaﬂﬂ@ﬂﬁ%%ﬁ%%ﬂlﬁﬁm&m A B Y A QB g |
A gad Sug © 7 |
(1) SRATEE @) oggd
(3) SFRE (4) T w=ER
The five-point rating scale in which the interpretation is being done based op
summative scores, is known as :
(1) Likert scale (2) Guttman scale
(3) Thurstone scale (4) Semantic differential scale
ra-Rig YT e RTEd AT il B TR U st B ol ¥, e 3 49.
=7 F ST SRS :
~ |
(1) *he Hd 2) m_mﬂu_ o
(3) =g = @) Ryfifes RBIRET
Which among the following is considered as a true-experimental design ?
(1) X-O 2) 0-X-0
3) N-x-o (4) 0,0,0,0,05-X-050,0506010
-C-0O
=itarag § § R U a=-aEiie BeEE & 9 § g ofr @ 7
xo ® 0-X-0
(3 O-X-
y 0-C M (4) 0,0,0;0405-X-06070505010
50.

Which ¢ ing i
Nﬂ.:n:‘n.&osm the following is not a method to control extrancous variables ?
(1) Elimination (2) Balanci
ancing

(3) xm:ac_‘awmao: (4) Tim li
e scaling

o e i
A:uﬂwuﬂn P A A P e adan @ B 7
e am,

PHD/URS-EE-2022/(Education)(SET-Y)/(A)
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Which among the following is not truc about a null hypothesis ?

(1) It can be tested statistically.

(2) It can be directional in nature.

(3) It signifies no difference.

(4) It signifies no correlation.

Prffag & & BHF-a1 g IR & ar F e 7T T 7
(1) 38 diteaa™ &9 & ax@n ST dbar 2 |

) g gHRT F R B bl B

(3) TE B ¥ T T B 1

4) a5 B deer e i B

Which among the following factors affect the internal validity of research results ?
(1) Prior knowledge about the subjects

(2) Carryover effect

(3) Experimental mortality

(4) Artificial situation

Py PR ¥ ¥ PE-a1 BREH M GROTHT B SAARD TAAT B THAT
FHIT B ?

(1) BwEt $ ar & @ 5

(2) FISTET 9=

(3) TG TG &Y

(4) o Ref

A study in which the cause-effect relationship is studies but manipulation of
independent variable is not possible, is known as :

(1) True-experimental design

(2) Solomon four group design

(3) Ex-post facto research

(4) Quasi-experimental research

P.T.O.
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51.

52

53.

. A
an wﬂmﬁmj%wuwﬁmwmaw%ﬁ%ﬂw“
ﬁ:ﬁﬂnn%mmw,\maﬂ
() | IR T8 ENIEY
(3) FETER SFTEH

(1) iSRS STgEETT
Which among the following qualitative research method has its roots in anthropology 9
(2) Narrative Research

(3) Case-study (4) Ethnography
Hﬂ@@mm@@mm&ﬂ&»ﬁ%%ﬂw%ﬂﬂmww

(1) Grounded theory

(1) Tsss =l () Nfeg Ra=
(3) HF-TSI (4) FEAfe=TT

Which among the following is an example of secondary source in historical research ?
(1) Government Declarations

(2) Video recording of Events

(3) Fossils and Skeletons

(4) Newspaper article on a finance bill

FrEe § ¥ B-a AReiie orEe § fadae d B garedl &
(1) 711 =9Eomg

(2) TS @ difsar R

(3) =aE9™ AT FHFr

(4) [Eial ﬂmm_umm a7 ﬁﬂ%ﬂﬂﬂ\w BT .@.@

Which - .
ich among the following is not true about a rescarch question ?
(1) A good rescarch question is clear.

(2) A good rescarch question is specific
(3) A good research question is answerable

(4) A good rescarch question is disconnected

PHD/URS-EE-2022/(Education )SET-Y)/(A)

A

54.

55.

56.

PHD/URS-EE-2022/(Education)(SET-Y)/(A)
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frefefea & @ @F-ar e ueT B ar § aa 78 & ?

(1) TH 76T A 5T T B |

(2) T T=ET Y A AR 6T ¥

vaﬂog%mnﬁaﬂaww%w_
@m.&%mﬂ%ﬂnﬁ@ﬁwﬁ%ﬁﬂw_

Which among the following is rot a disadvantage of single-subject experimental
research ?

(2) Order effects

(3) Baseline problem (4) Irreversible effect

PR & @ PE-aT THT-aa ST e B s TET® ?

(1) IgghRdr (2) TR THE

(3) ST qHET (4) FafEd=ia Tad

(1) Appropriateness

The review of literature does not help much as compare to others, in which of the
following ?

(1) Identification of the problem (2) Justification of the result
(3) Framing research questions (4) Significance of the study
%m@%%%%%%@ﬂﬂm%ﬁﬂﬂ%%
37

(1) FF& & ged=

(3) LY U JAR HIAT

(2) afomE @1 e
(4) oT=a= BT T

Which scale of measurement has only magnitudet rot the equal intervals and absolute

zero ?

(1) Nominal (2) Ordinal

(3) Ratio (4) Interval
ﬂ&@m%mﬂﬂ%ﬂwu@%mﬁdﬂ%ﬁﬁﬂw
(1) === (2) |mEmReT

(3) orgywT (4) siaqaT

P.T.O.
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A
16 A
The test which has a generous time limit so that most examince are able to attempt 61. Which among the following is not a standard score ?
57. The test which has & = (1) Z-score (2) T-score (3) C-score (4) P-score
cvery item. is Known as : S 3 & B T2
(2) Power test (1) SB-TH ) a-wH 3) #-wPpT @) T-w=Hr

(1) Speed test
(4) Verbal test

(3) Performance test
ﬁ%%ﬁﬁﬂﬂﬁ%ﬂ%&w%@m@ﬂﬂnﬁ%ﬂ%%ﬂmﬁ 62. What is basal age ?
0 s % 8, $ w9 F o o § (1) The age calculated from date of birth

(2) The age, up to which all questions are being attempted by a student on Binet test

(1) v T (2) i T
(3) e 9T (4) M e (3) The age, below which all questions attempted by a student on Binet test are correct
. . (4) The age ratio of mental age and chronological age
58. Which among the following is not a method of calculating internal consistency qer o T 37
reliability ? (1) @mg @ o S fafer & @ o ®
(1) Split-half reliability (2) Parallel From (2) o1g, wEt a% TH BE SN R T8eeT 9 @A Sl B wATE fHAr S
(3) Kuder-Richardson 21 (4) Coefficient alpha , 3
AreteiEg ¥ @ PG ofake fRRar fasaEsEdT #HOTOFEl B BT TH () 98 oy, REd TH BE SR R adEr 9w BT e A avT §E 2
=T T8 e ¢ (4) AHRIE SAY AR HIATIHIHD Y BT TG STTIT
(1) TE=mea—etren fasaq=iadr (2) g |
(3) FHET-TEgE 21 (4) TOTiH HTHT 63. Which among the following is not the correct matching of factors in Cattell's 16 PF
Questionnaire ?
58. Which among the following validity, is essential for an aptitude test ? (1) Humble-assertive (2) Trusting-suspicious
(3) Placid-controlled (4) Expedient-Conscientious

(2) Concurrent validity

(1) Face validity
fFr=falRag & ¥ F9-W Ba & 16 Niuw usEe F HRbT b1 & Ta= 787

(3) Predicuve validity (4) Construct validity

FrrfatEd § | B-a Jedn, Aear qheer $ R eTasah B 7 g ?

(1) s Foar @) Gt e (1) FFE-gEx (2) ™Y HEAT-HI&TET
3) - (4) HEBTRB-ZAFER

(3) Fa= T FeaT (4) fEtor Jeray
64. Which among the following is not a disadvantage of interview ?

60. Which among the following is correct formula for calculating z-score ?
(1) 7o % wt () x—2-m ) ZM-x W 7%= 1) ~=8n<mn.e<@n variability (2) Inherent variation in context
. o ] G S =M (3) Recording information (4) In-depth information
ST T % fom Frefran A @ Be-ar g @ 2 2 Frfafed & § SF- ariceR & sy 787 & ?
() Nuyxlw.x\ (2) x_Z-M Gy ZoM-X o g X-o (1) SRITEhRSAT gfed=eied (2) ¥t o ffeq fr=a
G 5 @ Z==; (3) R&ET STHry 4) BT SHB
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hich three are more persons choose each other.
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?

(3) A structure. inw
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Emﬁm@%%ﬁdmﬂ%ﬂ@ﬁmﬂﬂwﬁ
o) s, S et B R T G B

_mamﬂﬂﬂﬂw%%ﬂ%ﬁ%%@lﬁﬂwﬂww_

1) 5 Hoer, dae TH-gER B G |

Which among the following is not correct about descriptive statistics ?
(1) It describes basic features of data.

(2) Graphical representation is a kind of descriptive statistics.

(3) Variarion in data is represented through descriptive statistics.

(4) Hypothesis testing is an example of descriptive statistics.

~

T=erET § F HM-91 qUiFrad ofibsT B IR 7 el 787 & ?
(1) 77 =& %1 gae R[Nl &1 qof T 2 |

G_n'hgmgmﬂﬁmmﬁﬂﬂwmdfﬂmmﬁﬂudj S ¥

.w_aniﬁmg@mm@%ﬂﬁd@mwﬁﬂw_
(4) AT T0AY qoiRHE offbel B um SareRer S

Which ¢ ing i
1 among the following is not an inferential statistic ?

(1) Median
(2) Chi-square

(3) ANOVA
e~ (4) Regression analysi
THIET 4§ 5 F-T7 TS aricpey : alysis
(1) = ST 7&T & ?
3) = (2) PE-TFEET

(4) FEmT fagersor

RS-
RS mm.NSN\am:nm:c: JSET-Y)( A)

A

68.

69.

70.

71.

19

Which among the following is a parametric statistic ?

(1) Median test (2) Chi-square test

(3) Pearson's r (4) H test

FrffEd § @ Pre-a1 Weigs oTwsT B 7

(1) =ifegesT adrereT (2) HE-FFEET T
(3) fmdT @1 AR (4) Ta g1

In a study, if the data is collected in form of Numbers (N) and the sample was not
selected randomly, which of the following test can be used to see the significant
difference between two sets of sarnples on a variable ?

(1) Chi-square (2) Pearson'st

(3) ANOVA (4) t-test
Aﬁﬂﬁﬂﬂﬂ%wﬂﬁgav%ﬁammﬁﬂqﬂ%w%ﬁ
%ﬂ@mﬁ@ﬂﬂﬁ%ﬂﬂmw%uﬂa&ms@ﬂﬂ%
%&@%&%ﬂﬁmﬂ@%ﬂm@wwﬂuﬁ%g%gww

(1) HrE-FFmE @) fEds ® AR

(3) wwEr @) =

What percentage of cases will lie in a normal distribution between Oand-1c?
(1) 13.59% 2) 34.13%

3) 47.72% (4) 68.26%

0 R 1o & dra amFg e & feaw wReE a9 &F ?

(1) 13.59% (2) 34.13%

3) 47.72% (4) 68.26%

To use any parametric test, which of the following assumption is not essential to be

fulfilled ?

(1) Selection of one case must be independent of the other case.

(2) The observations must be drawn from a normally distributed population.
(3) The variable under study should be discrete.

(4) All the samples drawn from a population must have equal variance.

PHD/URS-EE-2022/(Education)(SET-Y)/(A) P.T.O.
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72.

73.

fepefl RS %ﬂﬁﬁ%ﬂw%@ﬂwﬂ%ﬂmwmﬂmjﬂ
ﬁmﬂﬁﬂ@ﬂmwﬁmm FE R ?
:,@ﬂn@ﬁmﬁﬂ%%wﬁmﬂ%ﬂ%_
@w&w@%%%w%%w@ﬂﬁ%_
@%ﬁuﬂ%%ﬂﬂ%ﬁmﬂ%ﬂ%_
E%@@Aﬂg%mﬁﬁﬂg%ﬂ%_

Which among the following does not denote an alternative hypothesis ?
2) Hi=M; #M;
@ H =M, >M,

D-HT Jpieacs TREHBEAT Bl AT T HT & 7
2) Hi=M;#M,
@ H =M, >M,

() Ic”?? H./au
(3) Hy =M, <M,

T § "

In a hypothesis is rejected at 0.10 level of significance, which of the following
interpretation is not true about the hypothesis ?

—

There is 10% probability, that the rejected null hypothesis is actually correct.

There is 1% probability, that the rejected null hypothesis is actually correct.

The hypothesis rejected at 0.10 level, will also be rejected at 0.05 and 0.01 level of
significance.

(4) The hypothesis rejected at 0.10 level, reflects there is 90% certainty in the decision.

EdEisaanl T 0.10 98 & WX 9X TIIpd B R’aAr oy B, Frefaiaa § @

FE-H =EAT TREHCT S R § gdl 78 8 ?

(1) 10% F=aE=1 2, 5 A g IRepea= arag § 81 2

(2) 1% F=a==1 2, 75 A=pd g aReedT araa § 98 T

(3) 010 =97 97 srigm #1 T afteed T @ 0.05 3R 001 $ Heda § X
T A =TT %7 femy S

@) AHTTH 2T 0.0 =T 07 s
: P HX RBar =T, s b1
0% Ferire . getfar @ T ol

PHD/URS-EE-2022/(Ed :c&:c::mm‘ﬂ-<<a>v

74.

75.
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While calculating ANOVA, which one of the following is the correct formula for F ?
(1) F= Between groups variance
within —group standard deviation
@) F= Between groups standard deviation
within — group standard deviation
3) F= Between groups standard deviation
within — group standard deviation
@) F= me.\no: groups <m~.§:on
within — groups variance
asfaT & TR B T, FretaRad & @ fe-ar F B e g8 gw s v
(1) F= Between groups variance
within — group standard deviation
Between groups standard deviation
(2) F=—- —
within — group standard deviation
Between groups standard deviation
B) F=—— -
within — group standard deviation
@) F= WWZ,.S@: groups <8..E=oo
within — groups variance
Which is the correct situation to apply point-biserial correlation ?
(1) when both the variables are without any dichotomy
(2) when one of the two variable is having dichotomy on nominal scale
(3) when one of the two variable is having dichotomy on ordinal scale
(4) when both the variables are nominal and dichotomous
Rig-famfes dedds @r 3 & g - g7 Rafa & 7
(1) Sta a1 =% Rer e fEsmse @ @
Q) 59 & T ¥ § U AmEE B 9w 97 faeiee 8t
() o & =X § @ uh F HEd gAH W EHeE S @
() v EFF = A ofR fawie &
P. T. O.
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is not among the three dimensions of curriculum Sugges R
g1 d S e

76. Whic )| n
6 h on¢ 7.:55 1
ans d Sttt [ 1 rfrf« {

7/ Mars an i Ftor i 9 4

of the 79. Which onc of the following in not a step of Taba's seven steps grassroots model of

curriculum development ?
list of contents but also the aims and oEoQEow ,

ly . L.
5 :a s not on (1) Formulation of objectives
(D curmculum e < ond evaluation

Joarning CXPErieNCes - (2) Selection of content

2y cgrriculum rc:%:,rm of planning learning d syllabus is of the teach (3) Organization of content
. and syllabus is of the teache ‘o :
olicy makers y Crs (4) Designing classroom learning experiences

cumcu

srriculum is the concern of p

(=

,.). srriculum and instruction cannot be separated frafafea & @ F-a1 gt e $ g9t H G TGO H FAHE =T %
o 3 3 ST T ol RS (1988) BN I T Temrerat 3 gy oIS BT O T T R 7
RSP AN (1) S2eFt H Preger
g L,m ﬂﬂmﬁ%%@%ﬂﬂw%ﬂwﬁ%a@ﬁ%ﬁw ) Al &1 =g
3 sewe AR g W e ¥ (3) "Rl W e
,Lnnwjjﬁﬁﬂ_%%ﬂmﬂﬂgﬂﬂw (4) T I B SFIGHAT B T BT
D _jﬁﬂ%qﬁﬂ%@gﬂ%mﬂﬂﬂw ,
4 TETmT I TR BT ST T8l RRAT ST EEdT © 80. If an institution wants to develop a course on cyber bullying and cybercrime, which of
the following approach will be the best suited approach for curriculum development ?
77. If a university prepares a curriculum document which would consist of a list of courses (1) Subject area approach (2) Broadfield approach
and svllabi of those courses, this treatment is known as : | (3) Problem centered approach (4) Learner centered approach
1) Curriculum as a product ﬂwﬂw&%%%@%%ﬂﬁmg%ﬂ
2) Curriculum as a programme , aAEAT B, T FreiREad ¥ ¥ BE- gRedor g e 3 /e g9l

IYGhH SitespioT BFT ?

3) ﬁE.dn:_:B as intended learning outcomes

.. (1) faw &= gfesror (2) dfswics giteshror
4 Curriculum as planned learner experiences T Bigd gREHIT fRreAreif s gieepoT
o= == EveETeE © ch

T ﬁgqﬂmﬂwﬁﬂﬁﬂw%%m@@

=F Te=mar 3 qIShH ST
- B, ¥ SHER 1 ST & 81. In CIPP model of curriculum evaluation, CIPP stands for :

=7 F eyt
(1) Context, Input, Process and Product

. %ﬁaaﬂuﬂma; :
(3) T HrEy B o i - . (2) Curriculum, Instruction, Programme and Process
i F wq RIESEE]] (3) Curriculum, Instruction, Process and Product

(4) === 51T
A I F = § qrEEEat (4) Context, Input, Programme and Process

% A e . grewEEal gediee & CIPP disa@ ®, CIPP &7 orf 2 -
ne - culum also includes the value system of the school and its teachers. (1) @, gge, whpar ofR S
V 5
2) hc‘..a.: (3) Hidden @) Null (2) drewreEt, FEer, HRHA AR AfEp
’ T A B e sy o gt ¥ (3) uresrerEt, fder, wRkaT Ol IMTE .
) e 2) 77 (3) feur may 4 ) S, e, e S S
PHD/URS-EE-2022/( 4y, N RN
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82.

85.

A

ic aluation in Kirk; ;
following i not a level of curriculum ev patrick
1ong the followllis

Which an
an_w_ .. i (2) Behavior (3) Instruction (4) Reaction

(1) Learming 2 . )
%mw%%ﬁﬂw%%ﬁ% FEFR ?
(1) ErReET (2) =EsR (3) Fder (4) wiifRAT

s the individual, not his problem ...

Who said "the focus of the guidance i
(4) Ruth Strong

(3) Crawford

(1) Traxler (2) Jones
gy ®aT “Hnfext @1 = ARD 2, S que Tl
(1) TFEaX 2) s (3) HHS @) = =T

Which one of the following is an objective of guidance at primary level ?
(1) To instll in the students a sense of cooperation

(2) To aid students in choosing their subjects for study

(3) To motivate students to take more part in curricular activities

(4) To help students in tackling the financial problems

FatET ¥ HH-a1 aefes WY aX FEe™ % 38T ® ?
(1) s=7 F

(2) =ET F FATT H T o9+ o g F Gemdar HEm

(3) BET HI Io==d] TREEET § S1es 9nT @9 $ g S9Ra &
(4) =T FH foa<im aaened 9 Fuesy ¥ 9eg Her

TEART &1 HEAT aT HIAT

Which among the following is rot among the core guidance service ?
( . L -
1) Orientation service (2) Pupil inventory service

( ac servi
3) Placement service “4) Iou_ﬁr-orno_a:m service

THATET F F -1 geT Arfesty dar ¥ § 272 ?
(1) Afqfa=mry 97 @) o= g aar
(3) =Tee T (4) w@ReT St dar

PHD/URS-EE-2022/(Ed ucation)(SET-Y)/(A)
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The source of occupational information, which is an account of one's life and how
he/she got success in the career, is known as :

(1) Occupational brief (2) Occupational Guide

(3) Biography (4) Vocational Fiction
ﬂﬂ%%ﬂ&ﬁ%ﬂ%gw%ﬂﬁﬁm?%gw%%%
HRAT T THATT HY T B, B AT AT B -

(1) =ATEmas |ieT (2) =AEHETIH TES

(3) Sha=t (4) @A HAT

The counselling, where the client is helped to himself. Client is allowed free expression
and the counsellors only direct and guide, is known as :

(1) Directive Counselling (2) Non-directive Counselling

(3) Prescriptive Counselling (4) Eclective Counselling
adﬁmﬁﬂﬂﬂwmmuwﬁ&mwﬁmﬂmwiw_ﬁﬂadﬂwﬁﬂﬂ%mﬂ)ﬂmmw
ﬁdﬂ@w%addﬁﬁﬂmﬂ.ﬂnﬂﬁ%ﬂsﬁjﬂww*m@@ﬁﬁamﬂ
ST B

(1) FrEemers aEet
(3) STRRMHB IIHRT

() sIfrEemeass grmLt
(4) Fpfeqer gamet

Who is known as the father of elective counselling ?

(1) I. Dave (2) F. C. Thorne
3) E. G. Williamson (4) Carl Rogers
Yopfeas GRSt B STH B ©9 F fRY ST ST B 7
(1) o 3T (2) Tho Hio a1+
3) So Sho fIHET @) ®Hrt o

According to Rogers (1957), "the process to help client to explore new themes,
problems, and feelings in his or her awareness" is known as :

(2) Secondary Empathy

(4) Emphatic Report

(1) Primary Empathy
(3) Advanced Empathy
AT (1957) B STAR, “TEDh B SHH STFTEDAT H T faw=, T AR
ATl T gdT SRR § maw BN B qEhAr’ B ™I H ST Sl ¥

(1) sirerfoes weTgyRy () wrEAtHs Ferga

(3) I~ FErgHRT (4) gifzEa RaOE
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90. In the TAPS model of guidance and counselling, P stands for : - o 94. In which of the following country, clementary schooling is of six (06) years ?
(1) Person (2) Process ? _UBM@M?EH WA v esenprion (1) Australia (2) UK (3) USA (4) India
%ﬂ%aﬂﬂ&%%&ﬁﬂﬂ%“ﬁq @?&Aﬂ frefafed & & e 2 F uRfes Rer oz 06) af @ S B ?
(1) = (@) s ®) () SRRET @) B (3) guEe @) =

91. Which among the following, is a programme initiated for universalization of primary
. C = ’ |
education mainly ? 95. The Centrally Sponsored Scheme of Vocationalisation of Secondary Education at + 2

(1) DPEP (2) SSA (3) RMSA (4) SAMAGRA | level in India was implemented in :
PR § @ B9 G ged w9 | ues P GEAHHIOT B Rw T (1) 1968 (2) 1986 (3) 1988 (4) 1992
= ?
EEUNEIECEL I AR H +2 WX IR AeGiHG RET & AGERIET Bl B TEIST FSET AR
(1) DPEP (2) SSA (3) RMSA ) SAMAGRA |
EII I
92. In USA. which among the following is not a goal for primary level education ? (1) 1968 =1 (2) 1986 # (3) 1988 & @) 1992 &

(1) create sociability and cooperative feeling

(2) create a national spirit 96. Which among the following committee has recommended socially useful productive

(3) create a consciousness of keeping the body healthy work (SUPW) while implementing vocationalization of Education ?

(4) developing vocational ability and civic education , (1) Hansa Mehta Committee (2) Durgabai Deshmukh Committee
3o THo To 4, q | - R HI Rrel b1 T TET R 7 (3) Ishwarbhai Patel Committee (4) Chatopadhyay Commission
(1) FATSET IR FEBRI AIe=T HIAT
5 . - Al frafed & @ e 9T 3 RET & =Z@ardiHor & @F] B a9 qHlseh
2) T ATEAT & AT
S ” 7 ¥ ST Sars Hr (Tagdisey) @ fawier B ?
(3) 717 I FEI IGF P AT YaT HI=T , N A
(4) =TEHIEE A9 SR ARG R 7 Repe BT (1) €& Aedr AtfkT (2) g Qe |k
93. The school . (3) SeaxwE wew wffa (4) TTEIIRAT TR
. :.h school system of which country has divisions named as clementary, middle, and
gh schoo] ? i
( __m:>n cc__ . 97.  Grammar Schools are part of the school system of which country ?
‘ ) H._m:n_n (2) UsA (3) Germany ) India . 43 Chi
B T A e qomet § e (1) Australia (2) USA 3) UK (4) China
o ST Rreerr Ree 31 @ FEmer ST 1 AT E 7
2) g (3) Swi @) W | (1) sigfer  (2) TuAT @ T (@) =T
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98. Community Colleges for providing vocational and semi-professional education, is a

system of :

(1) Australia (2) USA (3) UK (4) China

AGHEIAS 3R el Re se &+ & e §eias Jeliaecd, I
SOTIRAT © -

(1) e 1 (2) guaw #i (3) I&H Hl (4) ==

99. Which open university among the following is the oldest ?
(1) IGNOU, New Delhi
(2) Dr. B. R. Ambedkar Open University, Hyderabad
(3) UK Open University
(4) Uttarakhand Open University
Frafaaa 9 | S9-a1 g6 [Aeafaemes 999 gRem & ?
(1) &7, 7 faweh
(2) Sfo dlo 3o T<SHL Hh fAafqenad, eEs

3) o Ho NI Fiarid
(4) STREs Yxh [aeaiaemera

100. ... refers to the description of one or more individuals' consciousness

and experience about an incident or event.
(1) Phenomenology (2) Grounded Theory
(3) Narrative Research (4) Case-study

.................. T "eAT AT 9241 & R H THh AT Uh | ARp ATehar &1 ==
IR ST gH9d & GaXoT Bl FHaRfa &ar 2|

(1) ARSI 2) AXFSS =T
(3) NRfea " 4) HI-=I
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1. To use any parametric test, which of the following assumption is not cssential to be
tultilled ?
(1) Sclection of one case must be independent of the other case.

(2) The observations must be drawn from a normally distributed population.

(3) The variable under study should be discrete.

(4) All the samples drawn from a population must have equal variance.

ol Wrlifes aetor &1 SwEn H & fg, Frefmiag § @ 5 grom @
QT BT IETH 7 & ?

(1) T AMS % =79 TR 9 @ @as e @y |

(2) fewfPEl # Gmm w0 @ faRa seen § R S =i |
(3) AT B T AX FAT BT =R |

(4) ST ¥ T u |l TEt § g9 foerer e ey

2. Which among the following does not denote an alternative hypothesis ?

(1) Ho=M; =M, (2 H =M #M,
3) Hi=M; <M, 4) Hi=M;>M,
Frafafad & | -1 Jebicdeh IRBeIT BT ZF 7&F Ham & 7
(1) Ho=M; =M, 2 Hi=M,;#M,
3) Hi =M, <M, 4) H =M, >M,

3. In a hypothesis is rejected at 0.10 level of significance, which of the following
interpretation is not true about the hypothesis ?

(1) There is 10% probability, that the rejected null hypothesis is actually correct.
(2) There is 1% probability, that the rejected null hypothesis is actually correct.

(3) The hypothesis rejected at 0.10 level, will also be rejected at 0.05 and 0.01 level of
significance.

(4) The hypothesis rejected at 0.10 level, reflects there is 90% certainty in the decision.

PHD/URS-EE-2022/(Education)(SET-Y)/(B) P.T.O.



o qReeaT & 0.10 HEw B WX X STedigd F} fAr w4 B, R F @

- =R RS B R 7 ge T8 ' ?
(1) 105 s & B ordipd g aiebeaH arera F qE B
() 1% SwEET . oTigd g IRebedHT gred § FEl B

(3) 010 =% X P H T afkbea T B 0.05 AR 0.01 B HEE B WX

o7 T @NiS HY edr Sa |

(4) TEeeT =7 0.10 R 9X SAEhad HY AT T4, Js I 0ar & % fofy §

90 THiegaar =

4. While calculaing ANOVA, which one of the following is the correct formula for F ?

Berween groups variance

1) F=
within — group standard deviation

5, po Bemween groups standard deviation

within — group standard deviation

3, F= Berween groups standard deviation
within — group standard deviation

_ Between groups variance

Bl

within — groups variance

TEE F T B HE4, Mefarad § F $E-ar F B e g8 g g 7

(1) F= Between groups variance

within — group standard deviation

2) F= m.m.?nw: groups standard deviation
within — group standard deviation

3) F= Wﬁ&mwm groups standard deviation
within = group standard deviation

4) F= Between groups variance
within - groups variance

PHD/URS-EE-2022/(Education)(SET-Y (3,

PHD/URS-EE-2022/(Education)(SET-Y)/(B)

Which is the correct situation to apply point-biserial correlation ?

(1) when both the variables are without any dichotomy

(2) when one of the two variable is having dichotomy on nominal scale
(3) when one of the two variable is having dichotomy on ordinal scale
(4) when both the variables are nominal and dichotomous
feig-faepiteh gedds @] B B g BT et feara 2 7

(1) =/ ST =) faen fReE fawe & 2
Qvﬁm&ﬂm@ﬂmmﬁﬂ%%ﬂ%%
Qﬂﬂ&ﬂmwmﬂm%ﬂ%ﬂgﬁﬂw

) /@ QT =% A ofR fawfe Bt

Which one of the following is rot among the three dimensions of curriculum suggested

by Marsh and Stafford (1988) ?
(1) curriculum includes not only list of contents but also the aims and objectives,

learning experiences and evaluation
(2) curriculum comprises of planning learning
(3) curriculum is the concern of policy makers and syllabus is of the teachers

(4) curriculum and instruction cannot be separated

Prfafad & @ @-ar et ok WHiE (1988) ERT YT W Grew=Al &

FaEt ¥ T qE R ?

(1) grewrgat § 5 Baq GrER @ gE onfa B oafes SRw AR e, diEd
P g AR qeaiha +f e €

(2) =T § €iem H AT a9 Qe ©

(3) uTesrEat ReTEht T SIR UrewsRd i FmiareTt @5 f&Har ©

(4) UTe=ERT ONX THEXT @ SferT &l RBar ST 9ehar @

If a university prepares a curriculum document which would consist of a list of courses
and syllabi of those courses, this treatment is known as :

(1) Curriculum as a product

(2) Curriculum as a programme

(3) Curriculum as intended learning outcomes

(4) Curriculum as planned learner experiences



4 B
AR HiE AT Uh e s G4 HAT & R gessmal B geh
SR I qreRHT B GehT Uit eF, a7 g9 ITER P ST ST 8

(1) T 3T B T F gre=gar
Q) TH FEHT B T F gt
(3) sttsq drem @ RO @ ®9 # grewEat
@) PR Rerl gyt $ w9 # gt

8 A ... curriculum also includes the value system of the school and its teachers.
(1) Overt (2) Covert (3) Hidden (4) Null
TH e e H TR AR I8e et 3 e aeTel o enfye )
(1) weaeT @) g« (3) &t gam ) =

9. Which one of the following in not a step of Taba's seven steps grassroots model of
curriculum development ?
(1) Formulation of objectives
(2) Selection of content
(3) Organization of content
(4) Designing classroom learning experiences
e ¥ - JesEdEt @ee a9t & | =)ot $ oo WX B
HIST B TH = & & 7
(1) T294T =1 FrEqor
(2) |F=ET &1 F=9
(3) F=AT &7 HTew
(4) F= HrEH % TFHAT B FEolgT BT

10. If an institution wants to develop a course on cyber bullying and cybercrime, which of
the following approach will be the best suited approach for curriculum development ?

(1) Subject area approach (2) Broadfield approach

(3) Problem centered approach
AR E, Al Frefarad §
(1) fao3 2= gz

(3) FHEN FizET giezgm

(4) Learner centered approach
wwﬂ HIZIX HEH 9T ThH Ule=Bhy fpiad BT
q B gfeHor g ReRr $ R g9l

(2) FTePres giemor
(4) Rt S gfespor

PHD/URS-EE-2022/(Education )(SET-Y)/(B)

11. Which among the following qualitative research method has its roots in anthropology ?
(1) Grounded theory (2) Narrative Research
(3) Case-study (4) Ethnography
frefafaa #§ | Bea o MY d= B SS Jfasm § ¥ ?
(1) 7E3s A () Wfea Ra=d
(3) HA-ESN (4) FEfasT

12.  Which among the following is an example of secondary source in historical research ?
(1) Government Declarations
(2) Video recording of Events
(3) Fossils and Skeletons
(4) Newspaper article on a finance bill
i § @ SH-a1 Aetis gaa™ 7 fEdfos a1 S & ?
(1) T =Tt
(2) "erat @ dAifEar R
(3) STarT AR HH
%) B ST R EER-IE B

13. Which among the following is not true about a research question ?
(1) A good research question is clear.
(2) A good research question is specific.
(3) A good research question is answerable.
(4) A good research question is disconnected.
Frefafag & @ P9-91 M 99 B IR H "I FE@ T ?
(1) U oT=sT MY 59 e B |
(2) TH 3BT M weT fafee axar 21
(3) TH I/ MY 999 IR A AT B |
(4) Th ITWT MY T BEpAde B T B

PHD/URS-EE-2022/(Education)(SET-Y)/(B)

P.T.(



14.

15.

16.

17.

B
Which among the following is mot a disadvantage of single-subject experimental

research ?

(2) Order effects

(4) Trreversible effect

(1) Appropriateness
(3) Bascline problem
Frefeias ¥ § FM-91 ThH-faTT SRS S B e T8 T 7
(2) STRRT ST

(4) eTaRaEcd-a T

(1) 39g=har
(3) IYRIET 5 ET

The review of literature does not help much as compare to others, in which of the
following ?

(1) Identfication of the problem (2) Justification of the result
(3) Framing research questions (4) Significance of the study

Ferea 9 9 e aifed @ TR qERl  gorT ¥ o9 #wa qe s

(2) 9o BT AT
(4) AT BT TeeT

(1) F95=1 %I 959+

(3) ST 999 991X BT

Which scale of measurement has only magnitudet rot the equal intervals and absolute
zero ?

(1) Nominal (2) Ordinal (3) Ratio (4) Interval

AT % A T F dad o @ 9 % que sfexer ofk get g ?

(1) (2) |rEReT (3) SrgaE (4) SAITA

The test which has a generous time limit so that most examinee are able to attempt
every item. is known as :
(1) Speed test (2) Power test

c s (4) Verbal test

g8 9Al T3 n 3 T A i i
ﬁﬁﬂﬁﬁ:ﬁﬂ?nﬁﬁ@wﬂ@o@ﬁﬂgﬁnﬁﬂ%
(1) 7T géreroy (2) 2P qeqor

(3) wEe g (4) s qaror

(3) Performance test

PHD/URS-EE-2022/(Education)(SET-Y)/( B)

18.

19.

20.

21.

22,

PHD/URS-EE-2022/(Education)(SET-Y)/(B)

Which among the following is not a method of calculating internal consistency

reliability ?
(1) Split-half reliability (2) Parallel From

(3) Kuder-Richardson 21 (4) Coefficient alpha

refRag § @ BE-ET HARe ReRdT fAgeadEr #H OOl B B TH
Thepr FE R ?

(1) Farwaia-emn reaa-iadar
(3) HS-R=EAT 21

Which among the following validity, is essential for an aptitude test ?
(1) Face validity (2) Concurrent validity

(3) Predictive validity (4) Construct validity
Fr=fafag § @ H9-A Jear, FFgar 9T $ [RQ STEasas & ?
(1) sifpa e (2) FFaT e

(3) wfrsgaier Jerar (4) fefor e

(2) 9T |9
(4) TOTiH IATHI

‘Which among the following is correct formula for calculating z-score ?

) Nuxm\s 2) NHNM& 3) Nntmx ) Nux\mq
Sie-@hR B o B T Frafafad § @ S9-a1 g8 g3 ® 7
) z=22 @ x=2M @ z=MX @ z=X°

Which among the following is not a dimension of emotional intelligence ?
(1) Perceiving emotions (2) Understanding emotions

(3) Managing Emotions (4) Developing emotions
Fr=fiRed & & S WaTs gie ®1 o FEF e 7

(1) e B FHSET (2) AT BT FHSAT

(3) HETTST Bl SeEe (4) HE=TST HT e BT

"Motivation means to encourage people's inner resources, their competence. self-
autonomy and self-actualization.” Which approach has this view about motivation ?
(1) Behaviorist approach (2) Humanistic approach

(3) Cognitive approach (4) Attribution approach



Lmowmbmao.«\ in the MJ\”.D.N_VEE:O:. Corn-rr

Citve Ve

B | 9
8 : i i qd eTadl,  STRHE-EERIT B
@ﬁ:ﬁ%&w%%%ﬁﬁﬂuﬁ \ R
*IRm B AR # 78 ﬂwmﬂﬂﬂ P SurE #E 2 27.  According to Simpson, the correct sequence of five stages of creativity 1S :
ST . . inati
(1) @ ATl 3T ,, (1) Incubation, Revision, Evaluation, Preparation, and [llumination
(3) SIS @ Mﬂ._.m_dﬂ ST [ (2) Preparation, Incubation, Illumination, Evaluation, and Revision
N i isi ion, Illumination, and Evaluation
23, The fading away of conditioned response and its disappearance due to presenting a (3) Incubation, Revision, _unnwmnm:.oz EE:m.: L.
conditioned simulus without unconditioned stimulus, is known as : (4) Preparation, Revision, Evaluation, Incubation, and E—:E:m:o:u
(1) Generalization (2) Discrimination fepera & SIGER GOMRASAT Bl dr= STeeeTTaT T TE HH T
(3) Extdncton (4) Spontaneous recover . i .
- o (1) Sgwa-, dMes, e, REL DT
uﬂa%%@ﬂ%%ﬂﬂ%ﬂaﬂﬂ).wwﬂ@% , N N
oo Aw = B HROT 3ED g9 B Bl Pl B H ST ST ¥ @) ¥, ST, T, LA )
(1) = (2) dEEE (3) S+, HLME, Sordl, T TOT AR GedihT
(3) Bg= B (4) TaER SERA (4) Fardl, Heier, TEAE, STAAT AR TEBTT
24. v.«omwu_wﬂmma Instruction (PI) is based on - f 28. Which among the following level is considered severe hearing impairment ?
(1) Trial and Error (2) Intuition f i
(3} Classical Conditioning (4) Operant Conditioning k (1) 20 to 40 dB in the better ear
== ey (FienE) e ux etk B - .,, (2) 41 to 55 dB in the better ear
(1) waFeT &R Jre () Sias , (3) 56 to 70 dB in the better ear
(3) F=n=%a 3 4) ST HIILTIT |
“) w1 (4) 71 to 90 dB in the better car
25. Which theory of learning is also known as "Molar Theory" ? g & @ PR w@) B R HEer s " ST 8 7
(1) Tolman's Theory i ' .
ﬁwh i s Ineory (2) Erikson's Theory (1) ez B F 20 F 40 S
3) ﬂcm s Theory (4) Thorndike's Theory 1
S5 % T THE B ST S B A W o omar B 2 | (@ T F T 41 9 55 Je
(1) ==5= = f==ia ) uReTT B RiEiT , 3) e HE T 56 @ 70 TN
(3) 277 =1 =T c . .
) B =T = (4) T-sE% &1 Gaia 4) IJsaX HE T 71 F 90 N
26. In Gagne's Nine steps of instruction, the in
s 5 ternal ; : : : . : e oy .
associated with which instructional event ? ernal process called semantic encoding is 29. The learning disability in writing is known as :
m H Mm_.aam attention (2) Presenting stimulus (1) Dysphasia (2) Dysgraphia
roviding leaming suidanc Sy .
) Frov ing _mnj.sm m:_.mrmg- ) (4) Eliciting performance (3) Dyslexia (4) Dyspraxia
) TS % A1 70 H, fodfes R . '
T H gL E 2 7 : e SR Apar e Frdees e o e # owwr ® e &9 7 SET ST @
\m: Wﬁﬂ %ﬁaﬂ =l (2) SIAE TR HeT | (1) Reehf (2) feenfar
) IRTET°T HAFICIT Y21 Z7e7 . iR
“ (4) T2 BT 9T FHeT ﬁ ®) ) R
|
‘
P.T.O.

PHD/URS-EE-2022/(Education)SET-y /(B

PHD/URS-EE-2022/(Education)(SET-Y)/(B)
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30. Which among the following is

31.

32.

33.

not a projective technique ?

(1) Word associationn test (2) Rorschach Ink-blot test

(3) Thematic Apperception test (4) Situational test

FreitEg & @ BF-|1 Jadl dbiw FETE ?
(1) o= qread g (2) i ETEI-EreT T

(3) TS @ gdET (4) Rerferst= qieroT

"Brahma is the only ultimate reality, and the world is an illusion" which sub-school of

Vedanta believes in it ?
(1) Advaita Vedanta (2) Vishisthadvaita

(3) Dvaita (4) Dvaitadvaita

‘T 1 THEE 9XT 9 2 oiR §UR UHh wH ¥ AT O HH-dl IuTET 59

oG & 7

(1) 3929 Jeid 2) &R sTad
(3) &4 (4) Barad

Which among the following is not one of the eight paths to Nirvana, suggested by

Buddha ?

(1) Right Memory (2) Right Effort

(3) Right Meditation (4) Right Lifc

e J F BH-91 gE & gAY ] FEir $ ene Av 4 ok 78
z 7

(1) ==& =a (2) =& g9

(3) =& == 4) 9&r Sha=

Which vow of Jainism means "not to take anything that is not willingly offered" ?
(1) Ahimsa (2) Asteya
(3) Brahmacharya (4) Aparigraha

%—ﬂq «w.\ﬂ\\ R B
= wﬂﬂﬂﬂumﬁmmw THT B ARG T A ST Wt A A @

(1) AT
(3) ger=rd

(2) =T
4) emufme

PHD/URS-EE-2022/(Education)(SET-Y /(B)

34.

35.

36.

37.

PHD/URS-EE-2022/(Education)(SET-Y)/(B)

1

Which Indian thinker said "Education must aim at character building of the individual
and promote selflessness and courage” ?

(1) Mabharshi Arvind (2) Swami Dayananda

(3) Swami Vivekananda (4) Ravindra Nath Tagore
@mﬂ%ﬂﬂﬂﬁwﬁﬂkgﬁ%ﬁ%%%?&&%ﬁug
A% gE" B FgET 1 eF ARy ?

(1) 7=l oRfa= (2) @l =<

(3) @ fREsEw (4) fams AT TR

Which among the following is known for the ideas on pre-primary/pre-schooling ?
(1) Mahatma Gandhi (2) Gijubhai Badheka

(3) Swami Ramteerth (4) Jiddu Krishnamurti

e & R Sl Af-wpRiT 9T R & R S S ¥ 2
(1) gerET el () FrpeE arent

(3) @ TR 4) R TRt

Which Indian thinker said "Nothing can be taught" ?

(1) Savitri Bai Phule (2) Maharishi Arvind

(3) Mahatma Gandhi (4) Ravindra Nath Tagore
fpg Wi a3 Her ‘Ho W REmEn T8 S ahar ?
(1) wifesh % & (2) 7ef sRia=<

(3) HeTeHT e (4) s T TR

Which among the following statement is not true about culture ?

(1) It signifies individual's moral, social and intellectual achievements.

(2) Itis an integrated system of learned behaviour patterns.

(3) Culture is a complex whole of knowledge, beliefs, art, moral, law and others.
(4) Culture is an individualistic phenomenon.

Rrffad & @ SH-a1 wUE SR B aR § @8 a8 B 7

(1) g5 =aRp & A, s X NfRsH Iudafe=r H T B |

(2) 9% ¥R gU AR Yo &H TH THipHd SO € |

(3) EEBRT o1, fgam, well, ARH, HA A T B TH Sed qYOl B |
(4) &Pl uH ARKATE! g1 © |

P.T.O.
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38. Who said that there is no difference betwee

(2) Dawson and Gettys

(1) Gillin and Gillin
(4) Kingsley Dwas

(3) Murdock
fraY a7 5 qERTE gReaaT X iGpikih qfeds & $I8 X T8 ® ?

n social change and cultural change ?

13

ﬂomﬁomom,ﬂﬂ@@mm@%|§£ﬁﬂﬂ§%§ﬁ% FETE ?
(1) FETSRTEdT oM BN AT Y&l HIAT

(2) IS AEHET ST HIAT
(3) R FHI WX @A B AAAT &I BIAT
(4) =EEe aHar SN AFRS RET & Qe HIT

(1) Fifer oIk Fife (2) sTEe &R T
(3) ==f® OB > 43. The school system of which country has divisions named as clementary, middle, and
; . " igh school ?
39. Which theory is known as the "economic theory of social change” ? M___vm Mn WM_. 2 USA R @ Tndia
; : ustralia
(1) Cyclical theory (2) Functionalist theory _
: ) . o) ol ¥ wrifes, W ol S=a REmed & AW | e
(3) Marxian Theory (4) Conflict Theory i 3 B A i ,
= Eﬂa. = Nﬁ-_.ﬂ.._.@ﬂw ﬂ.mﬂﬂmﬂ_. mﬂamm ?ﬂ._.ﬂ.. > AT 9 H
o e R 7 - B (1) eireferar (2) guEe (3) S (4) AT
(1) == =i (2) SprETE Rysie
(3) AREaEl i (4) gz Ry=ia 44. 1In which of the following country, elementary schooling is of six (06) years ?
; i Indi
40. Elevation of a lecturer to the position of a professor is considered as : (1) Australia (2) UK . () USA - m%q?c W_mv
(1) Horizontal mobility (2) Ascending mobility fFrfafea & @ fpg a=1 7 aRP Re’m 88 (06) BRIl B 7
(3) Descending mobility (4) Territorial mobility (1) e @) 5 (3) quEe (4) A4
IHET & Ug AT qEITr HET ST 8 - i
«\. M_ st J_ﬂudﬂm.—aw mA i =l e Ww ) 45, The Centrally Sponsored Scheme of Vocationalisation of Secondary Education at + 2
ﬂwy Wﬂ%ﬂd P ) R level in India was implemented in :
) { IMMATAAT TR i
) @ T TR (1) 1968 (2) 1986 (3) 1988 (4) 1992
41. Which among the following, is a programme initiated for universalization of primary A H +2 & R ACARAD QT & ATERIHeT B BE AR AT AR
education mainly ? Y TS of -
(1) DPEP (2) SSA (3) RMSA (4) SAMAGRA (1) 1968 = (2) 1986 # (3) 1988 & 4) 1992 &
Frifram & & @i a1 ger e S SN .
REAT T e W.ﬂw Nl T M B + e g 46. Which among the following committee has recommended socially useful productive
(1) DPEP S., SSA work (SUPW) while implementing vocationalization of Education ?
) 3) RM.
&) SA (4) SAMAGRA (1) Hansa Mehta Committee (2) Durgabai Deshmukh Committee

(3) Ishwarbhai Patel Committee (4) Chatopadhyay Commission

e 7 @ g affa 3 Rem & agariieer $1 arg $a 999 gmEisis
9 H AR Saesh HE (Tagdsey) W Rawiiker @ 8 7

(1) a1 Aear afafy (2) FTeg ewgE Gt

(3) Sgavs wew Ry (4) TSI ST

42. In USA, which among the following is not a goal for primary level education ?
(1) create sociability and cooperative feeling
(2) create a national spirit
(3) create a consciousness of keeping the body healthy
(4) developing vocational ability and civic education

P.T.O.

PHD/URS-EE-2022/(Education)(SET-
on) Y)/(B) PHD/URS-EE-2022/(Education)(SET-Y)/(B)
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47. Grammar Schools are part of the school system of which country

(1) Australia (2) USA

(3) UK (4) China
ﬂﬂﬂ%%ﬂq%%%ﬁﬁﬂwu‘w
(1) T (2) guET
3= @) ==

48. Community Colleges for providing vocational and semi-professional education, is a

(1) Ausmalia (2) USA
(3) UK (4) China
% AT FT-AEANaH RET JTW A ® [N arEiae Jeiaeaed, U6

A<l
(1) FHifaar Fi (2) JuET H
(3) 7% # @) == @

48. Which open university among the following is the oldest ?
(1) IGNOU. New Delhi
(2) Dr. B. R. Ambedkar Open University, Hyderabad
(3) UK Open University
(4) Unarakhand Open University

ﬂﬂgﬂm@%ﬂlﬁmﬂmwﬁﬁﬁﬂﬂ.) . 3 5 7

(4) ITEE gen fguatazmr

PHD/URS-EE-2022/(Education)(SET-Y (i)
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refers to the description of one or more individuals' consciousness

and experience about an incident or cvent.

(1) Phenomenology (2) Grounded Theory

(3) Narrative Rescarch (4) Casc-study

(1) HAEIIS (2) IESs A

3) Rfea Ra=d @) a1
51. Which among the following is not a standard score ?

(1) Z-score (2) T-score

(3) C-score (4) P-score

=i § & HF-91 996 @R TET & ?

(1) As-THIX 2) A-wBX

(3) HI-B 4) -

52. What is basal age ?
(1) The age calculated from date of birth
(2) Thc age, up to which all questions are being attempted by a student on Binet test
(3) The age, below which all questions attempted by a student on Binet test are correct
(4) The age ratio of mental age and chronological age
qel Sfg F=T e 7
(1) oTg & o s ol | @ S @
(2) oY, STEf T TH B ERT &7 ThoT aX 1 9941 H1 T BHA1 S @
2
(3) g8 oy, Ed uw v & TR aderT o fhu T wef e w9 E

(4) ATAH oY TR TGS Y H Y I

PHD/URS-EE-2022/(Education)(SET-Y)/(B) P.T.O.
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ne is not the correct matching of factors in Cattell's 1 PF 56. Which among the following is not correct about descriptive statistics ?
(1) It describes basic features of data.
(2) Graphical representation is a kind of descriptive statistics.
(3) Variation in data is represented through descriptive statistics.
(4) Expedient-Conscientious (4) Hypothesis testing is an example of descriptive statistics.
e & 16 qUH FIAE T BRB BT FE B 77 %m@%lﬁ%%ﬂﬁa@%%wﬁﬂu%ww
(1) I8 3T & gaET Rt w1 g Har B

53. Which among the followi

Questionnairc ? . N
(2) Trusting-suspicious

(n Humble-asserave
3) Placid-controlled

Ferfertem & & S

7 ) (2) fema afEe o 9HR & JoeS offes 2 |

(1) FEE-TER (2) TR HTAART-HiRwer (3) 2T F Rrar &1 aoiEs Siidst B AT § i T 2
;(5% (4) TEETRB-ZAFER (4) afepeq=T 9d&oT oS SiTHST Bl Uh IaT60T & |

(3) sTVa-T41

llowing is not a disadvantage of interview ? 57. Which among the following is nof an inferential statistic ?
54. Which among the following 1s not a )

(1) Median (2) Chi-square
(1) Inrerviewer variability (2) Inherent variation in context (3) ANOVA (4) Regression analysis
B AH® SThST 78T & 7
(3) Recording information (4) In-depth information Frefafea & & T STFATIE =
- = (1) =feaenT (2) FE-TEER
H=rEn 5 -9 gk B B Jef g ? (3) T (@) ST e
(1) ST T (2) devt #F Ffed R 58. Which among the following is a parametric statistic ?
(3) T=n=T SEEE (4) BT SITEHT (1) Median test (2) Chi-square test
, (3) Pearson'sr (4) H test
55. In 2 sociogram. who is referred as a clique ? Frifafad & @ SF-a1 WRrefifes otiwer & 2
(1) The subject nit being chosen by anyone in group. (1) = RAG (2) FTE-FFAER TLAoT
(3) TIEsT BT AR (4) T gdeter

(2) The subject. who do not choose to anyone.

3) A 59. In a study, if the data is collected in form of Numbers (N) and the sample was not

structure, in which three are more
. ersons choose each other. . - L
P selected randomly, which of the following test can be used to see the significant

(4) Two members, choose to each other only. difference between two sets of samples on a variable ?
"% FEEIE F, fma Te T o & 2 (1) Chi-square (2) Pearson's r
~ oL 3) ANOVA (4) t-test
R o B o (
) %mﬂ%qﬂoﬂwﬂmﬁmﬂ U I H, AR 3@ He (N) & w9 K uhA fpar omar ¥ oo wwen
:Eﬁﬂ@,ﬂﬂﬁqﬂﬂw_ ﬁ?ﬁawﬂ%wﬂﬁﬂﬁﬁﬂﬂmw%ﬁqgﬂmﬂﬂﬂ%
3) 0% Hrgm e o o ® A Y B fig HEEgEl FaR B @ B AT TGN RHAT ST AT T2
@ & ﬂﬁ%mﬂmﬂwmﬁwlmﬁwm_wwﬂﬂw_ (1) PE-E=mER () TEET F1 AR
1 HeH, Faq -z 7 - | 3 4) H-I=
< g ﬂLﬂﬂ. E4 ( v ﬁﬂjﬂ._. A#v
w:c\cxm.mm-neﬁ\g_ﬁ:o: JSET-Y)/(B) ~ PHD/URS-EE-2022/(Education)(SET-Y)/(B) P.T.O.

S
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60.

61.

62.

63.

distribution between Oand -1 ?

ill lic in¢ mal
4t pereentage of cases will lic ina norn
ihgu_ﬁm“_oﬁr‘: 8¢ o i
; .». .. 2 ) 68.26%
(3) 47.72% v
0 IR _Q%%mﬂnﬂmd.«smmﬁwnﬂwﬁw@ﬁ%w.
(1) 13.39% (2) 34.13%

(4) 68.26%

In CIPP model of curriculum cvaluation, CIPP stands for:

(1) Context. Input. Process and Product

(3) Curriculum. Instruction, Programme and Process

(3) Curriculum, Instruction, Process and Product

(4) Context. Input, Programme and Process

Sre=r=at gedieT & CIPP wisw #, CIPP &1 o/ 2 :
(1) "=, 39ge, 9Har 3R Iw

(2) TrE=EET, e, BT SR ARl

(3) gre=rEET, HR9, uERaT 3Tk IWE

(4) Ho¥, 3YE, HEHA AR FiHAT
Which among the following is not a level of curriculum evaluation in Kirkpatrick

model ?

(1) Learning (2) Behavior

{3) Instruction (4) Reaction

F=eET § F % feddigs disd § dres=al gedie & wX 78 § 7

(1) === 2) FgErR
(3) ™=2a1 (4) wtafear

Who said "the focus of the guidance is the individual, not his problem ... "

(1) Traxler (2) Jones (3) Crawford (4) Ruth Strong

AT F2T “griesi 1 e efh B, S99 aueT J8t... 7’

(1) Z=Fm (2) == (3) HHS 4) ' €T

PHD/URS-EE-2022/(Education)(SET-Y)/(B)
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66.

PHD/URS-EE-2022/(Education)(SET-Y)/(B)

19

Which one of the following is an objective of guidance at primary level 7
(1) Toinstill in the students a sensc of cooperation

(2) To aid students in choosing their subjects for study

(3) To motivate students to take more part in curricular activitics

(4) To help students in tackling the financial problems

fFr=fafaa & @ HE-A1 arafdes T 97 Mg @ 29T = 7

(1) BET H G8ART & AEET Uo7 HIAT

(2) BET B AT B [T o9 fawm gAA T GEECT BT

(3) BET @I dresr=al TafafEEt § oAfts AFT A9 $ e Gid BT
(4) BET ® A< qaemelt § Myed & F@eg Hm

Which among the following is not among the core guidance service ?

(1) Orientation service (2) Pupil inventory service

(3) Placement service (4) Health-checking service

Frfefea & 9 H9-0 Jer Anfes dar § § 7872 ?
(1) oTfqfa=ame |ar (2) = g Far
(3) <gHe |ar (4) @y S gar

The source of occupational information, which is an account of one's life and how
he/she got success in the career, is known as :

(1) Occupational brief (2) Occupational Guide

(3) Biography (4) Vocational Fiction

IS STHHET 1 G, S f6El & Slad bl QE-Sikar 8 3K 394 394
HRAX F AHAAT DY AT BN, Bl SET ST B -

(1) FEaas Giera Q) FATHIAF TS

(3) Sha=h (4) TaETaS HAT
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Lo i Client is allowed free expregg;
. where the client is helped to himsclf. ion . X o
67. The oo::mn:_z_u_, W _~40-M_r,<:hw.mc_”“_:nwvccm qmu is known as : 71. Which among the following is not 4 type of probability sampling 2
Si ors onty = 4 . .
and the counsello . ) Non-directive Counselling (1) Simple Random sampling (2) Quota sampling
(1) Directive Counselling . (3) Cluster sampling (4) Multi-stage sampling
- elling (4) Eclective Counselling ; stage sampling
(3) Prescriptive Counselling N ) Frfefes & @ @ ar MiABar Hafert &1 g 87 = 7
o e F @d B AEE B 2 (1) & Fafeir ST SR
ﬁmﬁnwwﬂw%«adﬁwﬁaqgnﬁm%%ﬁ?ﬁww“m@@mmamj ﬂdwﬁm @ﬁmuﬁuﬂ%,q
5. (3) T FaReeT (4) mdi-wr Faferm
STTCT :
(1) FeemeTs weRl (2) e aXEt 72. Which one among the following is not considered as a characteristic of a good
N
(3) ARIMHF GRERI (4) g grmet sample ?
(1) Adequate (2) Representative
68. Who is known as the father of elective counselling ? (3) Unbiased @) Small
(1) 1. Dave (2) F. C. Thorne Wﬂ@@mm@%.ﬁ@i%%@%ﬂwﬁam FEF AT ST S 2
(3) E. G. Williamson (4) Carl Rogers (1) gai ) wfaffRy
(3) ey @) Brer

FHicas TUHY B Sk B @Y T Fha oIHT ofeT & P

(1) 3750 39 (2) Tho Hio o+ ; 73. When two questions are merged in one item of a questionnaire, such item is known
(3) o Sio fafTIEET (4) B AsT “ as:
1) Loaded ti 2) Leadi i
68. According to Rogers (1957), "the process to help client to explore new themes, W (1) Loaded Question ) (2) Leading Ocomaos.
problems, and feelings in his or her awareness" is known as : ‘ (3) Double Barrel Question (4) Conceptual Question
, Qﬂﬂﬂﬂ%%ﬁmﬁm&ﬁﬂwﬂﬂﬁdﬂwﬁ%wv%;,ﬁ

(1) Primary Empathy (2) Secondary Empathy 52 R

(3) Advanced Empathy (4) Emphatic Report , (1) TiT wg=r Q) ol wo

TE (1957) F FAIAN, “ARD B SER SFTEHAT F AU A, aemnsd ok (3) 39 A W (@) =R w9

HEAIAT F GG FOT T TGS B F AHAT B @ F AT o B ,

(1) ar=fas @) wreAf sfer 74. To collect the information about the infrastructure facilities in a school, which of the

oo following tool is the most appropriate ?
3) ™9 FEMEHR @.W:ﬂwﬂﬂ. Rare .
3) il kIR ) (1) Questionnaire (2) Schedule
70.  In the TAPS model of guidance and counselling, P stands for : (3) Checklist (4) Opinionnaire <3 e
_ " - TH el H givar glamet & Tee e w B e, e Bl

(1) Per mc:J (2) Process (3) Problem (4) Prescription 3 S 7

M j AT T7HIT £ <IIYTIH H_,Wnﬂ_ .m.y nﬁ. @ Oﬂ.ﬁg W. : Auv W_.wﬂ:mﬂﬁ. AMV %
(1) = (2) fzn @) @FEr - (4) Faior (3) i (4) T meTER

P.T.O.

HD/URS-EE-2022/(Education)(SET-Y)/(B) PHD/URS-EE-2022/(Education)(SET-Y)/(B)
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i ing scale 10
75. The five-point rating S¢
. .o is known as -

summative SCores

(1) Likert scale

ﬁmdgcmﬁvr%m% ) Qmﬂmw%aﬂ%qmﬂiwww_ﬂmw
w F s e E (2) T e

(1) R & IR e

1) g=eT &d @) e

(3) 3 ‘

76. Which among
(H X0
2y 0-X0

0-C-O0

e

1) X-0

77. Which among the following is nof a method to control extraneous variables ?

(1; Eliminadon
(2) Randomization

(1) Z=ge=

(3) Z=E==om
78.

(1) It can be tested statistically.

the following is const

whi

(2) It can be directional in nature,

(3) It signifies no difference.

(4) It signifies no correlation

PHD/URS-EE-2022/(Education)(SE .

Y)/(B)

ch the interpretation is being done based o

(2) Guttman scale
@ Semantic differential scale

dered as a true-experimental design ?

) 0-X-0
(4) 0,0,050405-X-060,050401¢

m@@ﬂ@mmml%w&aﬂwmamiQQWN

2) 0-X-0
4) 0,0,030405-X-0607080400

(2) Balancing
(4) Time scaling

T § F SE-1 9l =) B RS B BT adel 78 & 7

(2) dge=
(4) =139 wHieT

Which among the following is not true about a null hypothesis ?

79.

80.

W
!

fFr=fafad & @ ®-91 = aRwea T $ g F aF 727
(1) 39 Tikeaa ™ 9 § qI&T S gehalT B |

(2) I wHa 7 RemeTs 81 a@ar |

(3) I& P FaY FEl QAT B

(4) g5 g Hae L T2 B

Which among the following factors affect the internal validity of research results ?
(1) Prior knowledge about the subjects

(2) Carryover effect

(3) Experimental mortality

(4) Artificial situation

frIRaT BRI F § HIT-AT HRSP A TROTHT B ARG J=9d1 HI TG
HIAT B ?

(1) et & ar § @@ s

2) HheTaR w9

(3) ST T &Y

@) FEm Rafy

A study in which the cause-effect relationship is studies but manipulation of
independent variable is not possible, is known as :

(1) True-experimental design

(2) Solomon four group design

(3) Ex-post facto research

(4) Quasi-experimental research

TP g RTEH BRO-IE G B ST AT ST & At w@as 9] @7
AfTgRIe dwa 9E B, Fr & w9 § St ot B

(1) T=-amep fSomg

(2) AT TR wE fEemeA

(3) PEATR TS

(4) ord-yrnfs STgEu™

wmc\czm-mm-ncmﬁm._:a»:oaAmme-s\@ P.T. O.
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81. Who argucd that classcs develop in market cconomics, in which individualg Compete 86. Which among the following is not 4 dircction of de velopment 7
for individual gains ’ ) Taleort Parson (4) Max Weber (1) Function precedes structure
(1) Carl Marx () Sorokin A _..__mﬂwﬁ .:Jwﬁm_.ﬂ S 2, %ﬁ.ﬂ (2) Concrete to Abstract
frEy o RO & SO anferaenell A Rl ﬂWm (3) Egocentrism to Perspectivism
afre @S D Y o wiyeas! A g7 ae @) A Fae (4) General to Specific
(1) F TS Q%@wﬂ () e @ Freifed & HE- e @ oo g2 2 7
82, Who wrote the hook “Democracy and Education” ? (1) ™, HETH TEd w3
(1) Ansode (2) Plato (3) Dewey (4) Huxley 2) ﬁm q @”_.narmq
i q,,i.ﬁﬂymww_@ (3) TEBFRATE | qTSlegare
__f;l|,1,/ (2) =¥er (3) = 4) sF 4) T § Rfitre
83. Which aicle of the Indian constitution talks about the "prohibition of engaging a chilg 87. Which stage of social and emotional development corresponds to adolescence ?
Helow the age of 14 to work in any factory” ? / (1) Autonomy Vs. Doubt
1) Aracle 13 (2) Aracle 21 (3) Article 24 (4) Article 35 | (2) Industry Vs. Inferiority
=== ==== = 3= 4 ﬁw&d U a F BT 3T B T B R o | (3) Identity Vs. Identity confusion
== S S T O W AR $ AR A 9 B § 7 (4) Initiative Vs. Guilt
IoF=T 13 _.u.mmm.ﬁlmm_ (3) oW 24 (4) YW 35 | SR SR AEAHS b = H-1 /e feoiTEe=r & = = 7
(1) @& a9 916
84. .,.)HW constmtional amendment made education a fundamental right in India ? ” O ———
oo wm () 86h Ch) el (3) T A TEE wH
xr\rllw.”rwwdu_ﬁﬂdﬁﬁmﬁﬁéoﬁgmﬁwﬁw (4) JBd I H YU
L 2) &4at (3) 86t (4) 88dT
85. Which article of the Indian constitution advised that at least o ducation be 88. In EE.Q.H .0m the following stage of development. a child learns about classificanon and
A e e prmary ecuca reversibility ?
wﬂ_a\kx\l. ;M\»wc:_na R ) (1) Sensorymotor stage (2) Pre-operational stage
) i _HH.\ (2) >3do_o S51A (3) Concrete operational stage (4) Formal c?n_:c?,,_ stage e
AT HaEm % e e & @ »Hgn_owuw_w, [EEI11 mw,ﬂﬂ?am T Q Fpg o ¥ = @HIvl HWT ImHOAT B
A E A om0 E BT B R g g gn gt R F e ¥ ? ,
(1) s g2 214 | (1) FaEy Oxep Iraeen (2) ST-faieHa =T
(3) 3=z 3504 (2) sry=de , (3) It afaeE Saen
4) s =m 351A |
1§§m-mm-~c->§:aﬁ:§ JSET Y8 "

P.T.O.
- PHD/URS-EE-2022/(Education)(SET-Y)/(B)
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. eWer-Sheet. Rouah '

89.

90.

a1.

92,

€ ticked in +--

‘B

\oc an,‘m_cc:ﬁ:ﬁ refers to rules of appropriate and effectiye
i ~nt of language

Which component © g

communicaton ? Amv _vBm:Smnm
(©)) Morphology

(1) Phonology

3) Syntax

oy 3 P A AT

e & T (2) ATEETRHT

(D Mmummﬂh.:,ﬂ. :

3} g “) oﬂ%
roposed by :

of intelligence was P!

Two factor theory i
(2) Guilford

(1) Spearman .
(3) Stenberg (4) Binet

g5 & PP P et fepar T AT

(1) =ra<a_ &) @) feHsS 8R’T
J @) fame s

-~ c
(3) =9 E1R3

Which among the following word is not part of the definition of education given by
Pestalozzi ?

(1) Namral development
(3) Social development

AF-ar g e 8’1 & TS

(2) GrfsrEgel o
(@) seTfreiie farehre

(2) Harmonious development
(4) Progressive development

Wﬁﬂﬂaﬁﬁjﬂmﬂwﬁq

~ ~ ~

=g 9 9

78 =7

(3) FmETaE [gHE
Which among the following aspects of philosophy deals with teaching and lcarning ?

(1) Metaphysics (2) Epistemology

(3) >mc_cmw (4) Acsthctics
@ % F=eET s § § Se-ar Reer ofk Wk § gt ® 7
(1) T iFT (2) st
(3) Fear-rEraT (4) Breame

PHD/URS-EE-2022/(Education)(SET-Y)/(B)
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93.

94.

95.

96.
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Which among the following is rot an idealistic thinker ?
(1) Spinoza (2) Descartes (3) Hegel
fFrafea & @ $F usp omesfaE ffEn® 787 2 7
(1) Ra=rsT (2) Tprt (3) &

(4) Dewey
(4) =41

Which among the following is not true as per idealism ?
(1) Ideas are the expression of minds.
(2) Truth is an individual value.

(3) Self-realization is the goal of life.
(4) Intuition is the way to know the ultimate reality.

%ﬂﬁ%o&ﬁﬂ?ﬂ_@@dm@%ﬁﬁﬁi g2
(1) fre 7= @ sAfFeRn 21

() g wH @IReTT T B

(3) HATH—ETRIHR Sa HI & 8 |
Svﬂdﬂjﬂnﬂﬂgﬂwﬁﬂﬂﬂm&ﬁw_

Which among the following is true about realism ?

(1) Education is the ultimate product of life.

(2) Education has common/general aims.

(3) It accepts the existence of abstract things.

(4) World around us is the world of objects and not of ideas.
gemefare & @R § RrEfaied § 9 B a1 §&l e ?
(1) R S &1 i IE B

(2) RET B WERT , GETT I8 B
ﬁuvﬁ%mﬂoﬂ&%%%ﬁﬂy

mgv%ﬂ&%%%m&%&wﬂﬁwﬂwgﬁ_

In the concept of ‘complete life' suggested by Herbert Spencer, which one of the

following is not a specific objective ?

(1) Spiritual knowledge (2) Self-preservation

(4) Enjoyment of leisure

(3) Upbringing children

ﬂw%%@ﬂmikﬂ%ﬂyﬁgmuwﬂ?ﬁmmw%-ﬂ

u fafime SRem 7@ 8 7 ,

(1) sreaTieRss S (2) SMH-HTT

(3) =at F aRARA (4) FTEHTRT BT A .
P.T.O.

wﬂd\dﬂm.mm-uonn\ﬁw&:8:9&@@.7455

[
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97.

98.

99.

100.

B
The attitude of placing the child at the center of the teaching-learning process is known
as:
(1) Phallocentric attitude (2) Paidocentric attitude
(3) Learning-centric attitude (4) Naturalistic attitude
HEA-RE™ &1 afbar & $5 § a=3 B @ B ANGRT e B
(1) ®adfss srfgie (2) USHifes SgRY
Q) sIfeFH-sigT srfwgRy (4) gpfcardl AHghR
Which idea propagates "whatever fulfill our purpose, satisfy our desires, and develop

our life is true" ?
(1) Socialistic Pragmatism (2) Humanistic Pragmatism
(3) Experimental Pragmatism (4) Biological Pragmatism

ﬁ?—wﬁaﬂwaﬂw%‘ﬁ@ﬁmﬁmaﬁgﬂw%,m
FBIAT Bl QT FHIAT B, R AR AT B Kby Ham & a8 a7 ?

(1) gHISERT AT ehdr (2) AFEAETE SATTE BT
(3) U ATEERedr 4) Sifges Argeienar

Which among the following books, is not authored by John Dewey ?

(1) Democracy and Education (2) How we think

(3) Human Nature and Conduct (4) Reconstruction in Society
fFrfeied & | S g ST SN 3R 787 R € R 2
(1) epa= 3N R (2) B9 B IO

(3) 9Fg WHE 3T =T (4) guTsT § gAfigior

Who is considered as the propounder of Nyaya Darshan ?

(1) Gautama (2) Kapila (3) Patanjali (4) Jaimini
=19 &9 B gOKT R " ST & ?

(1) TMes (2) Hfaa (3) gcisifer (4) S

PHD/URS-EE-2022/(Education)(SET-Y)/(B)
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1. Which among the following is not a type of probability sampling ?

(1) Simple Random sampling (2) Quota sampling
(3) Cluster sampling (4) Multi-stage sampling
RyfoRae & & @ a1 S AT BTN TeT 8 ?
(1) &3 ages dqqieT (2) reT JUiiT
(3) e HuferT . (@) T8RS guferT

2. Which one among the following is rot considered as a characteristic of a good
sample ?
(1) Adequate ‘ (2) Representative
(3) Unbiased (4) Small
Frefefad & & BF-a1 T orl Y 3 fadear & w9 F 7eF " o & 7
(1) wai< (2) wfaffeEr
(3) Frrsae (4) BIeT

3. When two questions arc merged in onc item of a questionnaire, such item is known
as :
(1) Loaded Question (2) Leading Question
(3) Double Barrel Question (4) Conceptual Question
aam#mﬁ%q%qzﬁirmﬁmﬁaamﬁmm%,ﬁrﬁﬁrw
HEARI & :
(1) a9+ (2) IO 9
(3) g aA " (4) =i 99

4. To collect the information about the infrastructure facilities in a school, which of the
following tool is the most appropriate ?

(1) Questionnaire (2) Schedule
(3) Checklist (4) Opinionnaire

@F@Hﬁgﬁﬁmﬁgﬁmﬁaﬁﬂwwﬁ%ﬂEB"(—:T%TF{TI,H‘?WT?{EE’HHT
e 999 39Y<h & ¢

(1) Se=Te=il (2) g
(3) TBT= (4) TF 9IATEl

PHD/URS-EE-2022/(Education)(SET-Y)/(C) P.T.O.
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5. The five-point rating scale in which the interpretation is being done based on
summative scores. is known as : 9. /.S:or among the following factors affect the internal validity of research results ?
(1) Likert scale (2) Guttman scale (1) Prior knowledge about the subjects
@v Thurstone scale (4) Semantic differential scale (2) Carryover effect
ﬂlﬁw@%%%%w%ﬂg%iwﬁﬂﬂ% \
MR i S, (3) Experimental mortality /,.
(1) /e = (2) AT B (4) Artificial situation ,
3) e = (@) RHfes fTwime @a i &R®r § § Bi-a1 HREb 9 aROmET @ oridRE Juar B R
6. Which among the following is considered as a true-experimental design ? T E ?
(1) X-0 @) 0-X-0 (1) Pt & ar & gqif s
(3) 0-X-0 (4) 0,0,050,05-X-060,05050, (2) Hhelag o= .
0-C-0 3) I gg o ,,/“
Frafitad § 3 8 ob T3 Rome & w9 § 7T omr @ 2 () P Rerfy
(1) X-0 (2) 0-X-0 w
(3) 0-X-0 (4) 0,0,030405-X-060,050,0,4 10. A study in which the cause-effect relationship is studies but manipulation of
O-C-O0 independent variable is not possible, is known as : W,
] ) (1) Truc-experimental design _
7. Which among the following is not a method to contro] extraneous variables ? (2) Solomon four group design |
(1) Elimination (2) Balancing (3) Ex-post facto research |
Mw,‘ mmmaoawwbmosu (4) Time scaling (4) Quasi-experimental research
ﬁw@ﬂﬁﬁ4ﬁiﬂﬂﬁﬁ%ﬁ%iww T T e HeoT-sHE Hew h ot fHar S & A @ed =X
R ) Afrgelss d@wa T B, e B wq § S o ®
(3) T=aE=IEE (4) =13H BT (1) Tea-STfs R
8. Which among the following is not true about a null hypothesis ? (2) WA =R T
(1) It can be tested statistically. (3) T SFH
(2) It can be directional in nature. “ (4) oT-STATS STFHET
(3) It signifies no difference. ﬁ . S
(4) It signifies no correlation. 11. Who argued that classes develop in market economies, in which individuals compete
fFr=fefeT & 4 #F-a1 = 9iE@ea T & ar & 99 957 2 ? for individual gains ?
(1) 39 ANEFE =9 F 93@r o gHar 2 (1) CarlMarx  (2) Sorokin (3) Talcott Parson  (4) Max Weber
(2) 98 Tpfa | feones 21 gwar 2 ! fpeY 9 RO 5 IR onfemwed § ot @ [{em exr B, RBEd =ARe
(3) & *iE G TE e B e @ @ g sfreet #3982
(1) Bt AEE () @R (3) e aRW () B AR

(4) 9& HIE I TE AT B
P.T.O.
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12.

13.

14.

15.

Who wrote the book "Democracy and Education” ?
(1) Aristotle (2) Plato
(3) Dewey (4) Huxley
TRHG dz ogeE’ J}D frem e ?

(1) S ) =
(3) =4 (4) sFEa

Which article of the Indian constitution talks about the "prohibition of cngaging a child
below the age of 14 to work in any factory” ?

(1) Artcle 15 (2) Article 21
(4) Article 35

, T B W gT ‘14 aF F FH SW B a= BT A
FrEE F 5 I @ ) A6 B ar 9 &l © 7

(3) Ardcle 24

(1) == 15 (2) oTg=% 21

(3) Fg=ss 24 (4) VT 35

Which constitutional amendment made education a fundamental right in India ?
(13 8lst (2) 84th (3) 86th (4) 88th

5= Hfaae doeE J ARG § Ren @ Afws AR a9 ka3 ?

(1) 8157 (2) 84t 3) 86dT (4) 884t

Which article of the Indian constitution advised that at least primary education be
imparted in the mother tongue ?

(1) Article 21A
(3) Artcle 350A

(2) Article 51A
(4) Article 351A
A ATAE % A AR d T @ K Y R s @ e s Qe

g § 21 A 7
(1) a1 == 21A

(2) e1g=sT SIA
(3) 3TF=e 350A

(4) Irg=ET 351A

PHD/URS-EE-2022/(Education)(SET-Y)/(C)

16.

17.

18.

PHD/URS-EE-2022/(Education)(SET-Y)/(C)

Which among the following is not a direction of development ?
(1) Function precedes structure

(2) Concrete to Abstract

(3) Egocentrism to Perspectivism

(4) General to Specific

Pretfofaa § ¥ HH-8 R @1 R 78 8 ?

(1) &M, =T & 98t e B

@ o F o

(3) EHRAE | BRI

@) am= § fafRre

Which stage of social and emotional development corresponds to adolescence ?

(1) Autonomy Vs. Doubt

(2) Industry Vs. Inferiority

(3) Identity Vs. Identity confusion

(4) Initiative Vs. Guilt

RIS R WEARHS BB B Be-E orawe fheiREen | A @il § ?
(1) |EIaar 9™ Wh

(2) JEFT g™ &=

(3) wBT™ 9T Yed™ #H

(4) 98T I AT

In which of the following stage of development, a child learns about classification and
reversibility ?

(1) Sensorymotor stage (2) Pre-operational stage

(3) Concrete operational stage (4) Formal operational stage

g 3 PrefRad § @ e ofaeer § 9= T o SehaelEdl & aR
¥ drear g ?

(1) Ga&r O Sraeen

(3) T aR=mer aTaen

(2) Si-STaREA STa=
(4) INu=ie aRFT T

P.T.O.
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19. Which component of langud
communication ?
(1) Phonology

(3) Syntax

ﬁ@%wﬂmﬁ%ﬁmﬁma@ﬂ

HET & 7
(1) =< &5
(3) Re=w

5 e
oc development refers to rul

C

s of appropriate and effective

(2) Pragmatics
@) Morphology
Sk waE guR @ FrE|l B deii

(2) SEBTREAT
(4) oy fasT

20. Two factor theory of intelligence was proposed by :

(1) Spearman

(3) Stenberg

(2) Guilford
(4) Binet

s = 31 FRE feid S A A

(1) ==7a 2
(3) === =

() PeeE 8’1
@) faqe s

21. Which among the following word is not part of the definition of cducation given by

Pestalozzi ?
(1} Nartural development
(3; Social development

(2) Harmonious development

(4) Progressive development

¥ FE-A 0= IRl aRT 4 9 R @ ofkwrer & el

(2) aHSEEYet [fwe
(4) et e

22, Which among the following aspects of philosophy deals with teaching and learning ?

(1) Metaphysics
(3) Axiology

(2) Epistemology
(4) Acsthetics

gofd & Trei=iert sl § 3 F-an e ok drey § wdtm 2 7

(1) TA@EHETAT
(3) Y-HTHTAT
PHD/URS-EE-2022/(Education)(SET-Y)/(C)

(2) sT=HTET
(4) Hiwdomea

C

23.

24.

25.

26.

T e R S AR AN e . B o L e e i

Which among the following is rnot an idealistic thinker ?

(1) Spinoza (2) Descartes (3) Hegel (4) Dewey
e & @ #9 t oredfard ReRs 78 B 7

(1) Ra=rsm (2) St (3) B (4) &

Which among the following is not true as per idealism ?

(1) Ideas are the expression of minds.

(2) Truth is an individual value.

(3) Sclf-realization is the goal of life.

(4) Intuition is the way to know the ultimate reality.

STagaE # STER fFrfiead § & B W 7 78 T 7
(1) FErR 7= @ IfyeaRn 21

(2) T ©h AR T 2

(3) STH-TRIEHR ST B T & |

(4) s U IRl B ST BT TUB S |

Which among the following is rue about realism ?

(1) Education is the ultimate product of life.

(2) Education has common/general aims.

(3) It accepts the existence of abstract things.

(4) World around us is the world of objects and not of ideas.

gerefare ® 9R § Frefiad § § P9 91 g8 e ?

(1) e S %1 Siftm IR 21

(2) RET & ERT / FEFT 3299 B

(3) F8 oryd aEgell B Raa H EHR HIT 2|

(@) TR =R SR # g aeget @ g @ T @ faEnt @

In the concept of 'complete life’ suggested by Herbert Spencer, which onc of the
following is not a specific objective ?

(1) Spiritual knowledge (2) Self-preservation

(3) Upbringing children (4) Enjoyment of leisure

¢ T ™ gens T gel S’ @ swuwen #, Frefated § @ @e-a
us faftme SEvw 7@ @ 7

(1) amemifeqss s (2) ATH-FTIT

(3) F=at @ g 4) STTHIN HN AHE

PHD/URS-EE-2022/(Education)(SET-Y)/(C) P.T.O.
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1 the child at the center of the teaching-learning process is knowy
27. The attitade of placing

32. In USA, which among the following is not a goal for primary level education ?
4 T, (2) Paidocentric attitude (1) create sociability and cooperative feeling
_M. v:u:?#%ﬂw“qw””,aar (4) Naralistic attitude (2) create a national spirit
| ;‘H‘m.h M.dnm:wf% s 3 3% ° 9= P @A B AT T BE B (3) create a consciousness of keeping the body healthy
| T (2) ¥l TG (4) developing vocational ability and civic education
3 (4) SR S | o o To ¥, Frafiad ¥ @ Br-ar s T B BE oo T E 7
28. Which idea propagates "whatever fulfill our purpose, satisfy our desires, and develop (1) HHSRE IR Hehr A& YeT BT
orr life is nEm.. ? ) ) (2) TTT AEET Ja7 BT
1) Socialistc Pragmatism (2) Humanistic Pragmatism (3) T B T T B AT T
33 Experimenial Ndmamama (4) Biological Pragmatism @ S D S
;liﬂ,mlﬂnlnﬁﬂ %ﬂm&%%ﬁ&ﬂaﬁﬂw%
mu.dkfm = T BT © %, o 'AR Siad FN BT HIC & TE TA B ? 33. The school system of which country has divisions named as elementary, middle, and w
1) SOTSEE] IEE (2) AT SATTETRBAT high school ?
3 (4) Sifeep ATTRTRHAT (1) Australia (2) USA (3) Germany (4) India m
29. Which among the following books, is not authored by John Dewey ? Eﬂm A T T H e, qer ofR s e & oam d s ]
+ Democracy and Education (2) How we think ?7?
2} Human Namre and Conduct (4) Reconstruction in Society (1) StegferEn (2) guHan (3) S+ @) IRqa
= % F Ee- qe oA 36 gR 787 Rl T B 2
| === S o ) & 3 Iy B 34. In which of the following country, elementary schooling is of six (06) years ?
3) =7 =EE AV AR (4) FuTs & gAfAATT (1) Australia (2) UK (3) USA 4) India
30. Whols considered as the propounder of Nyaya Darshan ? friaie & & fh 3w 7 s fen os (06) T Ft it & ?
(1) Castama 3» K%__m @ Patanjali (4) Jaimini (1) sefrr ) I (3) gEEw (4) 9T
(1) = Qv FirA 9 BRI 4) SfEeh 35. The Centrally Sponsored Scheme of Vocationalisation of Secondary Education at + 2
31 Which among the following, is 4 a programme initiated for universalization of primry level in India was implemented in :
education mzinly 7 (1) 1968 (2) 1986 (3) 1988 4) 1992
() DPEP = = 12) 554 (3) RMSA (4) SAMAGRA ARG H +2 WX W Areafies Rem & Aaaemer @ $x aEn Ao  aw
o T g R e v % o 3 R g€ T A
FEEg Z 4) 1992
Q) e oF sex (1) 1968 (2) 1986 ¥ (3) 1988 & ) 1992 &

(3) RMSA (4) SAMAGRA , . P.T.O
PHI/URS-EE- 2022/ (Bducation SET.y . PHD/URS-EE-2022/(Education)(SET-Y)/(C) .T.O.
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10 c 11 !
) L . recommended socially useful productive F
36. Which among the following committce ._Emw lization of Education ? 40. ... refers to the description of one or more individuals' consciousness m
S ‘hile implementing vocation . A
work (SU ﬁuﬁ :; rmn :%wa . @ Durgabai Deshmukh Committee and experience about an incident or event. M
ans chits oM e .. i
o m.SV,_;.““ﬂ _.w ﬁp_ Committee (4) Chatopadhyay Commission (1) Phenomenology (2) Grounded Theory |
(3) Ishwarbha Pate - . : |
T 3 § g omta 3 ReT @ ZaEIERET B AR B AT I (3) Narrative Rescarch (4) Case-study |
i RawiRer # 8 ? A |
ﬁaw%u.,.uﬂﬂﬁﬂlAﬂﬁﬂmﬂé | s TP GSHT AT 63T & gR § Th a7 Th 9§ I8 ARhar &1 =a=r
1) S=7 Jear R (2) giETS I |iAkT AR ot & FaRor B Hahfa st 21
(3) ZvgT=E Sow AN (4) ST SRR (1) BTATrATSH (2) TESs AN
37. Grammar Schools are part of the school system of which country ? () Wfea ke @) BE-w=
crmali 4) Chi
(1) Ausmalia (2) USA @) UK (4) China 41. 'Which among the following is not a standard score ?
== [GEed 59 X %I Hened STl B AR g7
(1) Z-score (2) T-score
(2) JuET 3 T @) =
(3) C-score (4) P-score
38. GQULJHBWD. Colleges for providing vocational and semi-professional education, is a B F § Prear S TS ?
system of :
(1) Austalia (2) USA 3) UK (4) China _ (1) SiE-wBR @) d-=r
==anas A7 FE-AEENE R JEH e 3 R aeaiie Teifteed, o (3) |-whIX (4) 9I-=piK
(1 ,‘.W_) o7 # ANv uwdﬁ.ﬂ & va MW% T AA.V Mﬂﬂq m%q . 42. What is basal age ?
(1) The age calculated from date of birth
Which open universi ing i ; __ .
=8 7ieh open university among the following is the oldest ? (2) The age, up to which all questions are being attempted by a student on Binet test
(1) IGNOLU. New Delhi . . .
~ (3) The age, below which all questions attempted by a student on Binet test are correct
(2) Dr. B.R. Ambedkar Open University, Hyderabad
R (4) The age ratio of mental age and chronological age
(3) UK Open University g A g glealag
?
(4) Unarakhand Open University AT Y FR T
T F F EE- g frafEe gad s - A:ﬂ@%wﬂﬂﬁﬂ%@ﬁwiw
== =0 (2) 9Ty, SET T TH BE &R B 98&eT o g3 w9 H1 s Ay S @
e ST FZET g y [ W.

() & arg, NEd Tk B & a9 9T ) BT T @ oaee |6 €
(4) W Y A BIATGHAD Y B TG FIATT
PHD/URS-EE-2022/(Education)(SET-Y)/(C) P.T.O.

PHD/URS-EE-2022/(Education)(SET-y M(C)
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44,

e < - L

Cc

e i f factors in Cattell's 16 PF
Which among the following is not the correct matching O

ich « g the g
O:ommg:uwvm ? . .
1) Humble-assertive 2) Trusting-suspict
., » i B - -
(€)) mxwo&n:”-ﬁonmnﬁnzo:m

%%ﬂ%&&dﬂnﬁﬂ%mﬁ%ﬁ gel e T2

(3) Placid-controlled

e § g -
1 FEEEER () fagaE HIAITAT-H T
(3) sTra-TEEE (4) TEIRBEHAIN

Which among the following is not a disadvantage of interview ?

(1) Interviewer variability (2) Inherent variation in context
3 Recording information (4) In-depth information
S=teTeT ¥ § -1 ATk & s 78§ ?

() e & MfeT Rrar

(4) e SR

In 2 sociogram. who is referred as a clique ?

1; The subject nit being chosen by anyone in group.

/2 The subject, who do not choose to anyone.

(3) A structure. in which three are more persons choose each other.
(4) Two members, choose to each other only.

g, =3 7z = S B

(2) 73, 71 N F oS gy 3

(1) 7=z &

(3) w=E FHome, 7

) [ AR S A uh-gm B g ¥
(4) 31 AT, T AT B o %

PHD/URS-EE-2022/(Fducation)(SET-Y M(C)

46.

47.

48.

49.

PHD/URS-EE-2022/(Education)(SET-Y)/(C)

.(3) ANOVA
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Which among the following is not correct about descriptive statistics ?
(1) It describes basic features of data.

(2) Graphical rcpresentation is a kind of descriptive statistics.

(3) Variation in data is represented through descriptive statistics.

(4) Hypothesis testing is an cxample of descriptive statistics.
RrfiRa ¥ ¥ BE-aT aoieTE oTiwst $ AR # el 7ET T 7
(1) 78 21 B gEETE RNl H g B B

@) REmE SRR @ SHR B aoHEEs HES T |
Auvwﬂm?ﬂﬂﬂ%iwg@%ﬁﬂ
(4) ReeTeT THET JUiTD HiBST BT TH SAELT |

Which among the following is not an inferential statistic ?

(1) Median (2) Chi-square

(3) ANOVA (4) Regression analysis
Prefafeg § & PE-A1 FGHEHS ATHST TeT & 7

(1) wfeaest (2) HE-TFEET

(3) T 4) aferm= RReeeT

Which among the following is a parametric statistic ?

(1) Median test (2) Chi-square test

(3) Pearson's r (4) H test

fr=fRad § @ BA-a1 Welfgs oFiwsT & 7

(1) wiearesT adiereT (2) FE-TEER IET
(3) fIEs @1 TR (4) T qdeor

In a study, if the data is collected in form of Numbers (N) and the sample was not
selected randomly, which of the following test can be used to sce the significant
difference between two sets of samples on a variable ?

(2) Pearson's r

4) t-test

T eEE H, ak e ' (N) B 9 A s fhar S 8 AR A
ggRes 9 § FE gAT T o, a1 e " | SE-|r 93T 0 A% 9% AHA
3 QA Yt B N AedYel IR H @A H W ITART BHAT w1 FHawr B ?

(1) HE-TFEmER ) fEEs w5 e

(3) wHrEn @) d-;=

(1) Chi-square

P.T.O.
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50. What percentage of cases will lic ina normal distribution between 0 and 16 7

(1) 13.39% 2) 34.13%
(3) 47.72% 4) 68.26%
- L K N e, & \N
0 umAquwmmﬂ%m_mAﬂmwﬂwnﬂﬂﬂmw@ﬁ%.
(1) 13.59% @) 34.13%
(3 47.72% (4) 68.26%

51. Which among the following is nof a dimension of emotional intelligence ?
(1) Perceiving emotions (2) Understanding emotions

(3} Managing Emotions (4) Developing emotions

¥ § HF AEAHS R B AW TET 8 ?

(2) AT B GHSAT

(4) srETeA 1 R BT

t=ial

(1) =TT Bl gHSEl
i3) G H 99T

52. "Modvation means to encourage people's inner resources, their competence, self-
autonomy and self-actualization.” Which approach has this view about motivation ?

chaviorist approach (2) Humanistic approach

ognitive approach (4) Attribution approach

A E A B otaRe dEn, ouel awal, Sie-EEadl oK
=

wﬂ,ﬂxﬂgﬂ@dj_wﬁéwmwmﬁwﬂﬂﬂw&g%ﬁww
AT (2) AFEdEEY IIETH
(4) TOIRI9eT IUrRY

.”‘.am.m.. n‘. ay of conditioned response and its disappearance due to presenting 2
ditioned stim

..... wlus without unconditioned stimulus, is
(1) Genzralization

known as :
(2) Discrimination

(3) Extinction

) (4) Spontaneous recover
2 B e
T AT SR sqda 3 R wh SR
T T EN B e ww & o o
2) Y9

@) wwg gz

Cc

54.

55.

56.

57.

PHD/URS-EE-2022/(Education)(SET-Y)/(C)

(1) Gaining attention

15

Programmed Instruction (PI) is based on :

(1) Trial and Error (2) Intuition

(3) Classical Conditioning (4) Operant Conditioning
FARRE ey (feng) 1 ax emia & -

(1) adierer oR Ffe () ofa=

(3) FATRIHT HSIAHT (4) IIqe HITAFT

Which theory of learning is also known as "Molar Theory" ?

(1) Tolman's Theory (2) Erikson's Theory

(3) Hull's Theory (4) Thorndike's Theory

Hrem 3 fpg fasia & e a1 & 9 @ o S Sier 8 ?
(1) ras @1 Foasia (2) oiREFEs &1 =i

3) & W1 fa=ia 4) IHsES BT i

In Gagne's Nine steps of instruction, the internal process called semantic encoding is
associated with which instructional event 7

(2) Presenting stimulus
(3) Providing learning guidance (4) Eliciting performance

T B FEw B A el |4, Ryfes TR 9me oAl uthar e Ridurs
g ST g B ?
(1) =aF= STepiia AT

(2) SRR TEIT BT
(3) T Arfes™ sem w5

4) =¥ B T HET

According to Simpson, the correct sequence of five stages of creativity is :
(1) Incubation, Revision, Evaluation, Preparation, and Illumination

(2) Preparation, Incubation, [lumination, Evaluation, and Revision

(3) Incubation, Revision, Preparation, lllumination, and Evaluation

(4) Preparation, Revision, Evaluation, Incubation, and Ilumination

R e & STgaR gerToThar @ dte oTEReail & |E A D -
(1) STHaH, HEE, Jedih, 9ard ok eqsdiepTor

(2) M, SEHEA, TWEARTOT, G O] Hee

(3) STEA, HMEH, FAR, TTEHT AN Feerioh

(4) TaTq, HeMed, Jodios, IgWaT AR TqAHIT

P.T.O.
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58. Which among the following level is considered severe hearing impairment ?

(1) 20 to 40 dB in the better car

(2) 41to55dB inthe better car

{3) 56 to 70 dB in the better car

(4) 71 to 90 dB in the better car

Frfaiad & @ R @< B X 2gor B A7 S 8 7

(1) 98k &M F 20 F 40 S

(2) deax & 7 41 § 55 SN

(3) Js _E H 56 & 70 S

(4) FeaX HE F 71 F 90 S

59. The learning disability in writing is known as :

(1) Dysphasia (2) Dysgraphia
(3) Dyslexia (4) Dyspraxia
e § dres # onar @ e 'Y § ST ot @
(1) Teemia C () FEEnfer
(3) Tsxateran 4) R

80. 'Which among the following is not a projective technique ?
(1) Word associationn test
(2) Rorschach Ink-blot test
(3} Thematic Apperception test

(4 Situational test

=z & 7 SH-a1 @y gt TR 2
(1) 7= ==ed gfage

(2) N9 FAE =T Ty

(3) T A gy

(4) Featas= o

PHD/URS-EE-2022/(Education)( mﬁ%-%EOv

61.

62.

63.
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To usc any parametric test, which of the following assumption is not cssential to be
fulfilled ?

(1) Sclection of one case must be independent of the other case.

(2) The obscrvations must be drawn from a normally distributed population.

(3) The variable under study should be discrete.

(4) All the samples drawn from a population must have equal variance.

fredt Aefifees gderor &1 SUENT wa B R, Feafefaa § @ fFE arenm &
9 HAT AEAEH TET & ?

(1) Th A H1 TF9 FER AT & @A ST =he |

(2) feafort & e w9 9 faika seEen | @ s e )
(3) oT=mEe $ dsd =X ITHad s8FT Il |

(4) SHEET & g e g A § 99E REReT 8 =ne |

Which among the following does not denote an alternative hypothesis ?

(1) Ho=M, =M, 2) Hi=M,#M,
3) H =M, <M, 4) H =M, >M,
=i & § H9-a1 Ipikas aiRkeear i P 787 Har & ?
(1) Ho=M, =M, 2) H =M, #M,
3) H =M, <M, 4 H=M;>M,

In a hypothesis is rejected at 0.10 level of significance, which of the following
interpretation is not true about the hypothesis ?

(1) There is 10% probability, that the rejected null hypothesis is actually correct.
(2) There is 1% probability, that the rejected null hypothesis is actually correct.

(3) The hypothesis rejected at 0.10 level, will also be rejected at 0.05 and 0.01 level of

significance.

(4) The hypothesis rejected at 0.10 level, reflects there is 90% certainty in the decision.,

PHD/URS-EE-2022/(Education)(SET-Y)/(C) P.T.O.
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@aﬁﬂﬂﬂnwo._cﬁm%%ﬂ%mﬂw&ﬂwvﬁﬂﬂ@ﬂm@ o - |
- > aR T W S B Y 65. Which is the correct situation to apply point-biserial correlation ?
oﬂ, A J (1) when both the variables are without any dichotomy
) 1% (2) when one of the two variable is having dichotomy on nominal scale
2y 010

(3) when one of the two variable is having dichotomy on ordinal scale
T S ST S S (4) when both the variables are nominal and dichotomous

1 R = 010 WY W g B A T, A oitar ® 5 ol & ig-feorfe Tedde O B R B @@t e -
S I

(1) s/ At =% e Reel e @ @
Qﬂm&ﬂm@ﬂmﬂnﬂﬂwgﬂ%%

— Between groups variance 3) 9 & ] k- @ Th & ik Mﬂﬂw q¥ & ardar W
"' " within —group standard deviation

g4, While calculaing ANOVA. which one of the following is the correct formula for F ?

Aéﬂm&%ﬂmﬂﬁﬂ%ﬂﬁ@m%

Berween groups standard deviation
within — group standard deviation

F=

66. Which one of the following is not among the three dimensions of curriculum suggested

by Marsh and Stafford (1988) ?
21 Fe Berwzen groups standard deviation

(1) curriculum includes not only list of contents but also the aims and objectives,
within — group standard deviation

learning experiences and evaluation
Betwesn groups variance

. (2) curriculum comprises of planning learning
wilin — groups varance

(3) curriculum is the concern of policy makers and syllabus is of the teachers

= % T = s =EE, eerEd § ¥ BE-E ? . .

7, Frtad & § - F P e T ® (4) curriculum and instruction cannot be separated

1) Fu———wrch BIOUPS VENanoe Prefofa § @ Pe-ar TRt oIk R (1988) ERT AT W gRSEAT $ A
#77in — group standard deviation T — s 2

o Bevacen groups standard deviation

PITINR — BT

dard deviation . A:qaﬂﬂﬂmﬂmﬂﬁamw@ﬂ@ﬂwmwﬂawﬁ%uwﬁ.%ﬁw
group standard devie

E bS 1ation ﬂ./m . wﬂw /W
@vﬂaﬂﬂnm%@w%&ﬂﬂ%ﬁ?mw

Betweer

@) F=-

. Ovﬂaﬂﬂﬂ?ﬁwﬁ%ﬂﬁﬂnﬂﬁﬂﬂnﬂoﬂ%_ﬂﬂw
s Wanance

wilhiss — groups, variznce

quaﬂmmn%w_mﬂmwoﬁd#%@ﬂ%mﬁ:w
PHD/URS-EE-2022/(Education)(SET-Y)/(()

PHD/URS-EE-2022/(Education)(SET-Y)/(C) P.T.O.
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If iversity prepares a curriculum document which would consist of a list of courses
2 universit t

67.
this treatment is known as :

and syllabi of those courses,
(1) Curriculum as a product
(2) Curriculum as a programme

(3) Curriculum as intended learning outcomes
(4) Curriculum as planned learner experiences

e o SreeE B a6, 1§ ITER H STl SR ¥
(1) oF S $ &9 7 qre=rEEt

) ©F FEHET B w9 T e

(3) shRsg g B aRoTET & w9 F gl

(4) FET Rl orgwal w9 ¥ arewEdt

68. A i curriculum also includes the value system of the school and its tcachers.
(2) Covert (3) Hidden (4) Null
TH ceeenieeenns grewERd F e ol IEd Rt # e somen Wi @)
Q) T (3) four gan @) =

69. Which one of the following in not a step of Taba's seven steps grassroots model of
curriculum development ?
(1) Formulation of objectives
(2) Selection of content
(3) Organization of content
(4) Designing classroom learning experiences

FefafET § 9 BF-91 qreweat e B 3 TROT B S
il B NEIRGTESI N % X B

(1) ZZat =1 Fegor

(2) |E &1 "=

(3) AT =T HIedq

(4) 701 A= & Sgwat B Roiga e

PHD/URS-EE-2022/(Ed ucation)(SET-Y)/(C)
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70.

71.

72.

73.

PHD/URS-EE-2022/(Education)(SET-Y)/(C)
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If an institution wants to develop a coursc on cyber bullying and cybercrime, which of

the following approach will be the best suited approach for curriculum development ?
(2) Broadfield approach
(4) Learner centered approach

ok @Eax HEH 9 TH UHHH [GhfEd HT
P gftedT grewH e B e 7R

() dfsPies gReHT
(4) Rl BT giemon

(1) Subject area approach

(3) Problem centered approach
iy B eI GEaRgerT
gear 8, o Freafatea & @

In CIPP model of curriculum cvaluation, CIPP stands for :
(1) Context, Input, Process and Product

(2) Curriculum, Instruction, Programme and Process

(3) Curriculum, Instruction, Process and Product

(4) Context, Input, Programme and Process

qresrerat gedichd @ CIPP Hisd #, CIPP @&r aref 8 :
(1) sed, 39ge, ufFaT IR S

(2) wrew=Et, e, BRI AfHar

(3) urer=Et, R, ufpar iR SwE

(4) "=¥, $Ye, HrEHA TR HERaT

Which among the following is not a level of curriculum evaluation in Kirkpatrick

model ?
(1) Learning (2) Behavior (3) Instruction (4) Reaction
e & @ $9 Fafys dtsa & gew=al g & &R 787 8 ?

(1) dresT (2) =EER 3) et 4) sfatear

Who said "the focus of the gnidance is the individual, not his problem ... "

(1) Traxler (2) Jones (3) Crawford (4) Ruth Strong

(1) IFeR (2) st 3) HHS @) == =1
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74.

75.

786.

PHD/URS-EE-2022/(Education)(SET-Y )(C)

- ] o
following is an objective of guidance at primary level ?

ense of cooperation
their subjects for study
art in curricular activities

Which one of the
(1) To instll in the students a 8

(2) To aid students 1n choosing
(3) To motivate students to take more p

(4) To help students in tackling the financial problems

wﬂ%n@%.ﬁ%%ﬂﬂmﬂmﬂawﬁw ?

(1) ST F gean @ wEAn 99t BT
,ﬂﬂ%ﬂuwgﬁﬂwﬁmﬂwmﬁﬂﬂﬂmﬂﬂ

&,.ﬂﬁaﬁmﬂaﬂw@ﬂm%%@wwwﬁm%ﬁﬂﬂ

(4) B=I A Wﬁﬁﬁdﬁiq@ﬂﬂwmﬁmﬁﬁ

Which among the following is ot among the core guidance service ?
(2) Pupil inventory service

(3} Placement umj_on (4) Health-checking service
= & Se-d1 T Aree A ¥ § 7@ R 7

() = g= |4t

(4) T@reeg S qan

(1) Orientation service

TrearET 3 °
(1) FEg=E gar
(3) ==He 94l

The source of occupational information, which is an account of one's life and how
he/she got success in the career, is known as :
(1) Occupational brief (2) Occupational Guide
i3) Biography (4) Vocational Fiction
1§_:q43u._43ﬁm4m S Rl @ STed &1 aEr-orer 8 9iR 399 e
& = FF A< P, P SEAT ST B
e HiAT (2) EEES TES

(4) SFFEAH HAT

EaroT

1) =0
(3) ==

81.

The n?._z,,\mEzW where the client is helped to himself. Client is allowed free expression

and the ¢ E?a:oﬁ, only direct and guide, is known as :

(1) Direciive nc::mm:_:m (2) Non-directive Counselling

(3) Prescrip (4) Eclective Counselling

T, jmﬁﬁﬂﬁdﬁﬁd%i@%ﬂﬁﬂﬁ?ﬂ?%
#T7 THAS a9 9Fa AR Artes #wxd §, 5@ ey @ § oft

FIET 2

ve Counselling

(1) MEomes wvmot

: (2) AT g
(3) ARIAE T : ) o

(4) Jpfeges qxet

78.

79.

80.
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Who is known as the father of elective counselling ?

(1) 1. Dave (2) F.C. Thorne
(3) E. G. Williamson .
pieass wEel B oE B w9 T fHY ST @ B 7
(1) amgo 39 (2) Qo Hio A
(3) o Stlo faRT=TET (4) et T

(4) Carl Rogers

According to Rogers (1957), "the process to help client to explore new themes,
problems, and feelings in his or her awareness” is known as :

(1) Primary Empathy (2) Secondary Empathy
(3) Advanced Empathy (4) Emphatic Report

It (1957) & IER, ¢ ﬁﬂﬂ%ﬁﬁgmﬂﬂm&%oﬂ%
HEATeT BT aaT T HeE H B AEeAr’ B B9 H ST SR T -

(1) s gyl () wreafs AT

(3) S "eTgHT @) ghfrea Rare

In the TAPS model of guidance and counselling, P stands for :
(1) Person (2) Process (3) Problem
Trfaste X wmet B Swdieg Aea F, & § AwE ¥

(1) =6 ORIERI 3) ga&Em @) fFraiRor

(4) Prescription

"Brahma is the only ultimate reality, and the world is an illusion” which sub-school of

Vedanta believes in it ?
(1) Advaita Vedanta (2) Vishisthadvaita

(3) Dvaita (4) Dvaitadvaita
dﬂ%mﬂﬂﬂﬂnﬁﬂw%ﬁmﬂmﬁmﬁ@%&%l%aﬂd@m@
Al B 7

(1) 912q I=id
@) &

(2) TafdrseraT
(4) Zarad
P.T.O.
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82.

83.

85.

SR RS el T

Cc

ne of the cight paths to Nirvana, suggested by

Which among the following is not O

Buddha ?
(1) Right Memory
(3) Right Meditation

e § @ PH-A 38 & gHe

1) T2 (2) |g 9=
3 =5 = @) |& SiEd

(2) Right Effort

()] Right Life
o Prafor & ofe "M W 8 Th e

Which vow of Jainism means "not to take anything that is not willingly offered" ?

(1} Ahimsa (2) Asteya (3) Brahmacharya (4) Aparigraha

2o oof 3 g g Fr ond B UG B awg A AT o WeSr § A A W
7

(1y 37E=m (2) oT&i™ (3) FerErd @) safurE

Which Indian thinker said "Education must aim at character building of the individual
and promote selflessness and courage” ?
(1) Maharshi Arvind (2) Swami Dayananda .

(2) Swami Vivekananda (4) Ravindra Nath Tagore

T wEE AERE A FeT RET & 3299 @ARe B aRa e iR M
= TTES %] 9€™ a1 8FT 9iew’ ?

() @rft T

4) Fa= - JR

\

}-.

&

(1) ¥=/8 #va=<

Which among the following is known for the ideas on pre-primary/pre-schooling ?
(13 Mzhutma Gandhi (2) Gijubhai Badheka
(3) Swarni Ramteerth (4) Jiddu Krishnamurti

| q 7 R A-umE - ) RERt @ R s o 7
(1) === iy (2) P sy

@) forg, pomgfet

(3) @ A
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Which Indian thinker said "Nothing can be taught" ?

(1) Savitri Bai Phule (2) Maharishi Arvind

(3) Mahatma Gandhi (4) Ravindra Nath Tagore
fpg IR [ERe 3 Fe1 ‘Fo W fa@mr 7@ o dwar ?
(1) aifeslt ag gt ) =i ofa=

(3) HETHT el @) Fa== g TR

Which among the following statement is rot true about culture ?

(1) Tt signifies individual's moral, social and intellectual achievements.

(2) It is an integrated system of lcarned behaviour patterns.

(3) Culture is a complex whole of knowledge, beliefs, art, moral, law and others.
(4) Culture is an individualistic phenomenon.

Prerfefad & Br-ar T G B AR F gel T B ?
ﬁ_vﬁ%%wﬂﬁwﬁﬂﬁﬁ%%%%ﬂjy

@) @& €@ U FTER Yot H TH THHT T T |

(3) TEHiaT &, faeam, e, Iy, BEA AR I BT TH Sted G721
(4) EEBRT wH ARFAE! g B |

Who said that there is no difference between social change and cultural change ?
(1) Gillin and Gillin (2) Dawson and Gettys

(3) Murdock (4) Kingsley Dwas
wﬂw%@%%ﬂ%ﬁ%%m%%mﬁww

(1) Frfee ofik et ) sEEd AR AT
3) TS 4) rEa @™

Which theory is known as the neconomic theory of social change” ?
(1) Cyclical theory (2) Functionalist theory

(3) Marxian Theory (4) Conflict Theory
g@%%%nﬂiﬂﬁﬂ@ﬂ@ﬂa%ng
(1) ==Ha =i (2) wepEaEl Rsrd

(3) wTEETE! fai C-tREEL

P.T.O.
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90.

91.

92.

rer to the position of a professor is considered as :
(2) Ascending mobility

(4) Territorial mobility

Elcvation of a lectu
(1) Horizontal mobility

(3) Descending mobility
&%%ﬁﬂﬂ%ﬁa&ﬂﬂ%i%ﬂw”
(1) gt it () STAE TRILfAT
(3) STEEN TR () vRR TS

Which among the following qualitative research method has its roots in anthropology ?

(1) Grounded theory (2) Narrative Research

(3) Case-study (4) Ethnography
Wﬂﬁ@mm@@m?%aﬂﬂﬂﬁwmﬂﬂﬂmw ?
(1) TE8ss &l (2) e e

(3) BE-TSI (4) gaEofasT

Which among the following is an example of secondary source in historical rescarch ?

(1) Government Declarations

(2} Video recording of Events

(3) Fossils and Skeletons

(4) Newspaper article on a finance bill

T @ Be-aT AR orgEe ¥ fadEd Eid P SIET ¥ 7
(1) FLHHT Greend

(2) Tt H difsar ReafE

(3) SETEH 3R HHE

(4) T [EEEE 9 FHER-9S B ad

Which among the following is not true about a research question ?
i1) A good research question is clear.

{2y A good research question is specific.

(3) A good research question is answerable.

‘4) A good research question is disconnected.

A FH-9 MT 9 P aR F g F&F S ?
(1) ™% Z==T 99 999 o9 2|

(2) ™= F==21 g 999 fafare Ear 2

(3) ™% A= oNa 999 IAT 9 IRT

(4) ™% A= Ma 999 Tew@paae &) T )

PHD/URS-EE-2022/(Education)( SET-Y)/(C)
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Which among the following is not a disadvantage of single-subject experimental
research ?

(1) Appropriatencss (2) Order effects

(3) Baseline problem (4) Irreversible cffect
Frafafad ¥ @ S9-91 tha-Rg sdnmes e # e 787 8 ?
(1) S9ghdt (2) SR THE

(3) STERYT T (4) SMREdd-E SHT

The review of literaturc does not help much as compare to others, in which of the
following ?

(1) Identification of the problem (2) Justification of the result

(3) Framing research questions (4) Significance of the study

Rrfofead & @ Read aifee @ @i gl @ gor § el "ew T B
g7

(1) =T & gEd

(3) MY T JAR HIAT

(2) aReme w1 ST
(4) =TS B AEA

Which scale of measurcment has only magnitudet rot the equal intervals and absolute
zero ?

(1) Nominal (2) Ordinal (3) Ratio
T B feg YA F Paw qRATT A B GEE S SR Tt g ?
(1) ST (2) |TEmeT (3) oTgard (4) Saaa

(4) Interval

The test which has a generous time limit so that most examinee are able to attempt

cvery item, is known as :

(1) Speed test (2) Power test

(3) Performance test (4) Verbal test
nﬁaﬂaﬁﬁ%ﬁ%&wﬂ@ﬂ@ﬂ@aﬂﬁ&iﬂoﬁwﬁ

ge gde S

ﬁﬁaﬂmﬁﬁwﬁamﬂgﬂﬂw”

(1) wIfer qdeqor (2) aRe TRToT

(3) st ThE (4) i T
PHD/URS-EE-2022/(Education)(SET-Y)/(C) P.T.O.
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98. Which among the following is not 2 method of calculating 1nternal C()nSistcncy

rcliability ?
(1) Split-half reliability (2) Parallel From
(3) Kuder-Richardson 21 (4) Coefficient alpha
Prefafag & § @-ar ofidie ReRal fwEaeadEd H TN B Houg
ahwr e & ?
(1) frefsa-omen Rrega=iaar (2) AT |
3) FsT-R=AgE 21 (4) TOTiH STTHT

99. Which among the following validity, is essential for an aptitude test ?
(1) Face validity (2) Concurrent validity
(3) Predictive validity (4) Construct validity
Fr=idad d & SF-@ Ju@n, Fegar gdeor & [/Rie smasas 2 7
(1) AT Serem (2) FEec e
(3) Afsgaie™ Jear (4) HToT Jear

100. Which among the following is correct formula for calculating z-score ?

1) z=23% @ x=50 @) z=MZX (g z-X-o

SS-EPIX B O H [T T § d fe-a g8 9w ® 2

1) =225 @ x=5H @) z=MX (g z-Xo

(o) (o)

PHD/URS-EE-ZOZZ/(Education)(SET-Y)/(C)
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(DO NOT OPEN THIS QUESTION BOOKLET BEFORE TIME OR UNTIL YOU
ARE ASKED TO DO SO
D ) SET-Y

PHD/URS-EE-DEC-2022
SUBJECT : Education

SI.NO. oo,
Time : 1% Hours Max. Marks : 100 Total Questions : 100
Roll No. (in figures) (in words)
Name Date of Birth

Father's Name

Mother's Name

Date of Examination

(Signature of the Candidate) (Signature of the Invigilator)

CANDIDATES MUST READ THE FOLLOWING INFORMATION/INSTRUCTIONS BEFORE
STARTING THE QUESTION PAPER.
1. All questions are compulsory.

2. The candidates must return the question booklet as well as OMR Answer-Sheet to the Invigilator
concerned before leaving the Examination Hall, failing which a case of use of unfair-
means / mis-behaviour will be registered against him / her, in addition to lodging of an FIR with the
police. Further the answer-sheet of such a candidate will not be evaluated.

3. Keeping in view the transparency of the examination system, carbonless OMR Sheet is provided to
the candidate so that a copy of OMR Sheet may be kept by the candidate.

4. Question Booklet along with answer key of all the A, B, C & D code sh
University website immediately after the conduct of Entrance Examinat
valid objection/complaint if any, with regard to discrepancy in the Questio
24 hours of uploading the same on the University Website. The complai
the Controller of Examinations by hand or through email. Thereafter, no
considered.

5. The candidate must not do any rough work or writing in the OMR Answer-Sheet. Rough work, if any,
may be done in the question booklet itself. Answers must not be ticked in the question booklet.

6. There will be no negative marking. Each correct answer will be awarded one full mark.
Cutting, erasing, overwriting and more than one answer in OMR Answer-Sheet will be treated
as incorrect answer.

7. Use only Black or Blue Ball Point Pen of good quality in the OMR Answer-Sheet.

8. Before answering the questions, the candidates should ensure that they have been supplied correct
and complete booklet. Complaints, if any, regarding misprinting etc. will not be entertained 30
minutes after starting of the examination.
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1. "Brahma is the i :
ma s the only ultimate reality, and the world is an illusion" which sub-school of
Vedanta believes in it ?
g; gdv-aita Vedanta (2) Vishisthadvaita
‘%IET ;rma (4) Dvaitadvaita
%WWW%WWWW%’Wﬁ%'@wms@
(1) S78q A<iq 2) fafRmerda
(3) & (4) Eea
2. i ing i
Which among the following is not one of the eight paths to Nirvana, suggested by
Buddha ?
(1) R%ght Memory (2) Right Effort
(3) Right Meditation (4) Right Life
Wﬁéﬁq—wg&mmmﬁﬁw%mﬁﬁﬁ@ 7eT
(1) |&r Ty (2) "1 sy ™
(3) g8 == @) §& St
3. Which vow of Jainism means "not to take anything that is not wilh'hgly offered" ?
(1) Ahimsa (2) Asteya (3) Brahmacharya (4) Aparigraha
S9 e B RRE g9 BT o BOTH! BB a%] T AW S Wesr § 7 & TS
Bl ?
(1) srtEar 2) =i (3) s (4) eTaRue

4. Which Indian thinker said "Education must aim at character building of the individual
and promote selflessness and courage” ?

(1) Mabharshi Arvind _ (2) Swami Dayananda
(3) Swami Vivekananda (4) Ravindra Nath Tagore

ﬁmﬂﬂ?ﬁaﬁmﬁ%m‘fﬁww@waﬁﬁ%aﬁawmﬁzm
AR TEd @ ge™r I BT =" ?

(1) 7= srfa< (2) @ T =
(3) @rf fEsE (4) == TR TR

PHD/URS-EE-2022/(Education)(SET-Y)/(D) ' P.T.O.



the ideas on pre-primary/pre-sch ooling 7
for .
" (2) Gijubhat Badheka
(4) Jiddu Krishnamurti
. framt & T ST S & o
gl T

ine is know
ich among the following 18
5. Whicha N .
(1) Mahama Gandht

3) Swami Ramteerth

( ) p .
e & @ B sl o o
(1) FET et - ?mw_wﬂw
(3) =T AT ._Wma_m 5]
t !
h Indian thinker said "Nothing can be taugh
6. Whic

(2) Maharishi Arvind

(1) Savitri Bai Phule (4) Ravindra Nath Tagore

% M dhi i
,u_,/rbmwumg w%~%§§%%§ !
IE RaE RS

- : @) 7o et
;,_ﬂ__uﬂ,qmﬂ,m@ @) Fas AT TR
(3) FETHT TET
7. Which among the following statement is nof true about nEE.B ?
. (1) It sienifies individual's moral, social and intellectual achievements.
Q) I Wrwu integrated system of learned behaviour patterns.
“W. Culiure is a complex whole of knowledge, beliefs, art, moral, law and others.
(4) Culmure is an individualistic phenomenon.
FeEa § § HH-91 B GEh B aR 8 @gt 7E 7
(1) 7= =i & Ao, e ol Aifes Sucier ®r a9rfar S|
2) 7F HrE g FaER Yt @ uh v wonel 2

=

(4) FZ0 % ARBART e T

Who szid that there is no difference between
(1) Gillin and Gillip
(3) Murdock

social change and cultural change ?
(2) Dawson and Gettys
(4) Kingsley Dwas
T AR gt it % A o T E ?
Q) saET o Ay
@) B gam
Y)/(D)

1) e A foferg
() #s=

vﬂc\cﬁm-mm.neww\a Educatigp )(SET-

9. Which theory s known as the "

10.

11.

12.

mvms\gm-muw-ncnm\ﬁwa:QSQEAWMHLC\AUV

economic theory of social change" ?
(1) Cyclical theory (2) Functionalist theory
(3) Marxian Theory (4) Conflict Theory

1) ==mT i (2) gHEEHaE fasi

3) ATREIE i (4) gz a=ia

Elevation of a lecturer to the position of a professor is considered as :
(1) Horizontal mobility
(3) Descending mobility (4) Territorial mobility
%%ﬂﬂﬂﬁﬂ%a&ﬂﬂﬁjﬂgw”

(1) ST TRy () IRE Tfvefierer
() STE TRy (4) sRis TiRyeferar

(2) Ascending mobility

Which among the following,
education mainly ?

(1) DPEP

is a programme initiated for universalization of primary

(2) SSA (3) RMSA (4) SAMAGRA
Wﬂ@@mm@%ﬂm@ﬁ@ﬂﬁ?&@ﬁ%ﬁ%ﬂw@m@m
fpar T ey ¥ 0

(1) DPEP (2) SSA (3) RMSA (4) SAMAGRA

In USA, which among the following is nor a goal for primary level education ?

(1) create sociability and cooperative feeling

(2) create a national spirit

(3) create a consciousness of keeping the body healthy

(4) developing vocational ability and civic education
ﬂOAﬁOAovaﬂ@w@ﬂm@%|gﬂﬁgﬂmwgwﬂﬁmﬂ TFET® ?
(1) TSR SR e e Y7 ey

) TN AEET Y97 w1

3) M%mwﬁﬁﬁwmwwmﬂmﬂﬂﬂq

@) =R e oMY AR R B R HTAT
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e 3] SV i 57. h ¢ ountry jvisi as 0_0—: n Mﬁ.v\u EQ :

P which €  has di 181 ! (¢ u
Iy 10 A T Q vis10NS nan Q
..:#. wﬁz;_,.,ﬂrﬁ ent

(4) India

high school ? . (3) Germany
(1) Ausmalia 2 wm..r. v o 3 3 o a

o 2 & g ST A T T
° Sl (4) AR

(1) SRERE (2) TS Q)

I which of the following country elementary schooling is of six (06) years ?

n Wiuc 01t =

1y Apsmalia ) UK (3) USA (4) India

o s = = g 3w F R w58 (06) g & exit B ?

1) i 2) > (3) guET @) 9IRd

nrally Sponsored Scheme of Vocationalisation of Secondary Education at + 2

Jzvel in India was implemented in :

(2) 1986 (3) 1988 (4) 1992

—= 3 1) =7 97 OTE Rl $ AEEEEIT # B SRS A

|

\}
\\l\
.
aly
\‘l‘

(1) 1968 & (2) 1986 F (3) 1988 & @) 1992 &

Which zmong the following committee has recommended socially useful productive
work (SUPW) while implementing vocationalization of Education ?
(1) Hansa Mehta Committee (2) Durgabai Deshmukh Committee

(3) Ishwarbhai Pate] Committee (4) Chatopadhyay Commission

P % 7 P A 3 e % o B wa awd aeo
ﬁnﬁqﬁ%jﬁﬂ«ﬁﬁgvﬂ?ﬁwﬁﬁww
(1) Za1 qean #faiy (2) gt 2erge Ak
(4) FEMreAT STEnT
Y)/iny)

(3) £99TE wewt Aty

17.

18.

19.

20.
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Grammar Schools are part of the school system of which country ?

(1) Australia (2) USA 3) UK (4) China
T e e 31 B e ol HT A £ ?
(1) SAtegferar (2) guan 3) & @) ==

Community Colleges for providing vocational and semi-professional education, is a
system of :

(1) Australia (2) USA (3) UK (4) China

A% AR Tf-2Eaias R sam & & fe ametas geidecd, o
SOTRRAT &

(1) siredferar () T @

Which open university among the following is the oldest ?

(1) IGNOU, New Delhi

(2) Dr. B. R. Ambedkar Open University, Hyderabad

(3) UK Open University

(4) Uttarakhand Open University

Frfefed & | HF-|1 goh [Aaied g9q gl 8 ?
(1) 79, 7 Rt

(2) Sto o 3MRo TASHY Hh faxafded, sexErE
(3) go o YA Fardd

@) FRES b [aeaiqe™

(2) guET H @) == Fi

....................... refers to the description of one or more individuals' consciousness
and experience about an incident or event.
(1) Phenomenology (2) Grounded Theory

(3) Narrative Research (4) Case-study
.................. U el 91 9T B AR F UH AT OF 4 o1 Afhal H A

oI orgwa B RaXeT B HaFT Hear B

(1) SAEsrol ) &3S AR

3) Nfem Rad @) du-T=

P.T.O.
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pich of the following asst p don
- . gost. Whi€

ﬂ::mﬂ._r {CS

e other case.

y distributed population.

To usc any P
fulfilled ? ) )
N Sclection of onc ¢& ,
(2) The observations mus

ﬁn_‘—aﬂ_‘: Om E

c indc]
;e must be 11
se om a normall

¢ be drawn T
be discrete-

1d :
- ble under study shoU i have equal variance.
(3) The variable un opulation must ha
(4) All the samples Ezwwoa w_m nﬂw_ 3 f, PrerarEd F A RRE oo g
& i T
W%ﬁﬂ e A & e @ AR
;,.Nmmn:m Nﬂmﬁﬂqm%mw F [ ferar ST ey |
3 faaRa SaEl

(2) FegreEt B A &9
(3) wﬂﬂwﬂmdﬂgdmm
(4) FE9ET g @ 1@ g+l

the following does not denote

g7 =ned |
F gu ReERer gFn =R

an alternative hypothesis ?

22, Which among M2 M
(1) Hy=M; =M (2) Hi=M,;# M
(3) :_H?m_AZu 4) EFHH(.—_VH(—N ,
~ e § | Be-aT 3RS TREBET B EF & B 8 ?
W:EN??ng ANV :_Hz_ﬂgw
(3) E_H./A_Agu Ahv :_HZ_VZN
23. In a hypothesis is rejected at 0.10 level of significance, which of the following
interpretation is not true about the hypothesis ?
(1) There is 10% probability, that the rejected null hypothesis is actually correct.
(2) There is 1% probability, that the rejected null hypothesis is actually correct.
(3) The hypothesis rejected at 0.10 level, will also be rejected at 0.05 and 0.01 level of
significance.
(4) d.a hypothesis rejected at 0.10 level, reflects there is 90% certainty in the decision.
T TEEE & 010 7R B wR preffed # @
= . Iy <] .ﬂlﬁ.
Mﬁlﬂﬁﬁaﬁﬂaﬂ%%mﬁ%”%w&vﬁ.gﬂ g,
(1) 10% #9111 2, 5 ar ’
(2) 1% =am 2. 6 P IRFeTT A H T B
% T FEET I Oy .
(3) 0.10 B D T § gE B
T T TG #E qftaeqe 5 @
T R B feay sy B 005 FR 0.01 H HdEA
@) S 20,1 .
A L s > £ i
P 0% Pt % TP W e, iter & O
'HD/URS-EE-2(2 '
N\:wa__Q:S:«mm,_,.uc\av

D

24. While calculating ANOVA, which one of the following is the correct formula for F ?

25.

Between groups variance

(1) F=—=— e
within — group standard deviation
@) F= wo.ﬁiwo: groups standard an«.;mn.o:
within — group standard deviation
3) F= anwoz groups standard ao«.&w.n.o:
within — group standard deviation
@) F= Between groups variance

within — groups variance
oar & T B T, Freirad § & He-ar F e g geT g B ?

Between groups variance

) F= within — group standard deviation
) F= Between groups standard mn,.\mu.ao:
within — group standard deviation
3) F= Between groups standard deviation
within — group standard deviation
@) F= Between groups variance

. within — groups variance

Which is the correct situation to apply point-biserial correlation ?

(1) when both the variables are without any dichotomy

(2) when one of the two variable is having dichotomy on nominal scale
(3) when one of the two variable is having dichotomy on ordinal scale
(4) when both the variables are nominal and dichotomous
fig-Tamirs Feddy ar &1 $ e SA-A1 gel Refa & ?

(1) @ Q1 =) fae fee fawmsT & 2t

(2) 5 & =} A q TH AFEE B IHA 9R EwSE @t

(@) 9@ q = A F TH A HHS AN IR &S S B

(4) S/ 1 =) AHEE iR fEwi &t

PHD/URS-EE-2022/(Education)(SET-Y)/(D)
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26.

27.

D

ong the three dimensions of curriculum suggegte g
015

i o is nof At
Which one of the following

Staff 988) ? . ..
by Marsh and Srafford (1 nly list of contents but also the aims and Sbiectives,
. des not O
) curriculum inclu s
! HEB:Z experniences and mé_:mco_ e
anning 1€
2 curriculum comprises of pl e " wv\__mvcm T

. f no_m&\ m
2 < the concem ©
(3) curriculum1s eparated

. ) ction cannot be S
BERINES

=

?
wz%%%ﬂmﬂfﬂ%%@%@ﬂw%%ﬁ%%ﬁ BlcE
;.%on.@ﬁmmﬂ.amﬂ._ﬂm. of qnfeet 8

7 2
a“,.ﬂﬂmﬂnﬁmw%&ﬂﬁmaﬂgﬂﬂ
_m‘.ﬂﬂmﬂwﬁﬁﬂ%ﬂﬁﬂn%ﬂﬂuﬂoﬂ%gw
Eﬁﬂ&n%ﬂﬂwﬂ%%ﬂm&mﬂﬂ%ﬁgw

If a university prepares a curriculum document which would consist of a list of courses
and syllabi of those courses, this treatment is known as :

(1) Curriculum as a product

2) Curriculum as a programme

(3) Curriculum as intended learning outcomes

4) QE#E:E as Em:bna learner experiences

I_HHuﬂ&ﬂ: ﬂﬁﬁa@ﬂ%vﬁwmaﬁﬂmwi%w.
) T% IR F w9 F gt

qq.ﬂ

28. “\OS ...... oc:._ow_cs also includes the value system of the school and :m teachers:
o ﬂuuyuumﬁn: (3) Hidden (4) Null

(1) s «Nvﬁﬂuﬁ%%jﬁﬁwmﬂ%nﬂgnﬂwﬁw_
GO Fmgenr @ g

PHD/URS-EE-2622/(E( ucation)(SET-

Y)/(D)

29.

30.

31.

PHD/URS-EE-2022/(Education)(SET-Y)/(D)

Which one of the following in not a step of Taba's seven steps grassroots model of

curriculum development ?

(1) Formulation of objectives
(2) Selection of content

(3) Organization of content

(4) Designing classroom learning experiences

Prefifed & @ FF-9T UresEET fAeE $ adar B A =)o B S D
Hisd &1 Th 90T 78T & ?

(1) It 1 Freuer

(2) T & "I

(3) AR W GG

(4) T dEq B oTgHAl Bl TESMET HLAT

If an institution wants to develop a course on cyber bullying and cybercrime, which of
the following approach will be the best suited approach for curriculum development ?
&) Broadfield approach

(4) Learner centered approach

(1) Subject area approach

(3) Problem centered approach
Ak HE HEW @RGSR AR BET TR UH USwmH [FHha s
gEdT 2, O Freaffed § @ SA-91 giRehor ey e B e gad

UG FieHIOT BAT ?
(1) s &= gftesior (2) dfsHies giteHwIoT

(3) T HiEa giemor (4) famrit SfEa gfewmror

Which among the following qualitative research method has its roots in anthropology ?
(2) Narrative Research

(4) Ethnography

(1) Grounded theory
(3) Case-study
Frefafag & @ fpg oo o gl B o gRasE 7§
(1) uSSs et (2) Mfeg Ra=

3) -2 (ORERIEEIR]



o s L 1 n» = n uv\ source n —‘.— S OH.—ON~ resear “
WN hic o the t ) ino 18 an ¢ .e——shu coO scco QL 1
m ( owlng 18 an X
oll 1
W h ama 1St
o ~ Sk S .
A V OC, P:Z,Sr_.; ;/—L.—:Lﬂ: ns

(2) Video ocording of Events
(3) Fossils and Skeletons .
(4) Newspaper aricle on a finance bill

INIEEN] rdmw%nm,_%%mm @.._@.ﬁ

ae & fadiae | BT I’ ?

33, Which among the following is not true wcocgammnuno:@:nmnonw
1} A good research question is clear.
2) A good research question is specific.
3} A good research question is answerable.
4; A good research question is disconnected.
=t § F F-A o 9 B AR § °d 7ET ¥ 7
=21 99 99 T ¥ .
= o w R A 2
F=21 979 999 T & A ¥
F=2T 919 999 Tspree & T Ea

34. "hich amo T 5 ) . : kt
fich wmong the following is nof a disadvantage of single-subject experimental
research ?

(1) Appropriateness

(2) Order effects

! (4) Irreversible cffect

P TR wier s @ ety 9@ B 2
(2) AR gwE

@) siadm s

(3) Baseline problem

a7 7 =
(1) =9 1
(3) ST ey
PHD/URS-EE-2022/( Educatig )ISET-

%

Y)/(D)

36.

37.

38.
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The review of literature does rot help much as compare to others, in which of the
following ?

(1) Identification of the problem (2) Justification of the result

(3) Framing research questions (4) Significance of the study

frfeiea § | fhad wifee @ @fien gEdt @ gomr # sger #ee JE B
272

(1) §9€1 B gea
(3) oM T FAR HIAT

(2) 9o w1 A
(4) ST BT TE A

Which scale of measurement has only magnitudet not the equal intervals and absolute
zero ?

(1) Nominal (2) Ordinal
(3) Ratio (4) Interval
g B Bpg YuE 7 Bad gRErr @ 9 & gEe efaue otk ol g ?
(1) sI=H= (2) greReT
(3) STga 4) sfau

The test which has a generous time limit so that most examinee are able to attempt
every item, is known as : ‘

(1) Speed test (2) Power test
(3) Performance test (4) Verbal test

Te qlen RTEH U SR gHg M7 ST 8 Al SRR gderRi e STged
FHT TIT B b, B ©I F T ST © -

(1) Tifer adeger (2) op Tl=Tor
3) w&s™= uleror (4) MRgsH gregor

Which among the following is not a method of calculating internal consistency
reliability ?

(1) Split-half reliability (2) Parallel From

(3) Kuder-Richardson 21 (4) Coefficient alpha

Frfeiaa § § @9-91 oiqRe (R RwEadEar $1 O #1951 us
T FET B ?

(1) TisTa-otren fagaa=adT
) HE-R=gaT 21

2) IR &
(4) OTH IITHT

P.T.O.
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39.

41.

42,

ng i i aptitude test 7
the following validity, 18 Owwmznm_ for an ap 9
ong £

Which am @) Concurrent validity

(1) Face validity ..
) Predictive validity (4) Construct validity
3) Predictive

- %-%wﬂﬂ&ﬂﬂa&msmw@ﬂoﬁﬂﬁmww

Prforaa & 9

R () Eadt et

) s A (@) fermfoT e

Which among the following is correct formula for calculating z-score ?

_ _ _M-X _X-o
nz=XM @ x=5r 3 Z=75 @ 2=
e & AT B e RreRRad § | S| &8 g ® 7

; — M-X X —
m z=XM @ x=28 0 z=75 @ z="3°

Which among the following is not a dimension of emotional intelligence ?
(1) Perceiving emotions (2) Understanding emotions
(3) Managing Emotions (4) Developing emotions
H=eEa J | $M AEAES gRE B A FEF & ?

(1) &7 B qHEHT (2) wEISAT B FHSAT

(3) AEIEAT H T (4) et Hr A BT

"Motivation means to encourage people's inner resources, their competence, self-
autonomy and self-actualization." Which approach has this view about motivation ?
{1) Behaviorist approach (2) Humanistic approach

‘W ) Cognitive approach (4) Attribution approach

PR ymﬂ 7T 2 AR C AR e ST &HET, STH-E SIS
ATH-ATT FT el ﬁﬁ_*ﬂéw%mﬁmﬁﬁﬂ@maﬂﬂﬁww
(1) ===rarE s 2) T TEERE U

(3) H==m\% Tapy
(4) TOTRYT IuEE

e

PHD/URS-EE-2022/(Education )(SET-Y)/(D)

43.

45.

46.

PHD/URS-EE-2022/(Education)(SET-Y)/(D) -
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The fading away of conditioned response and it
conditioned stimulus without unconditioned stimy
(1) Generalization

(3) Extinction

s disappearance due to presenting a
lus, is known as :

(2) Discrimination
(4) Spontaneous recover

SR IEIT B A wh ot

ST UM FA F BT 560 G 9 B Pt w9 F o o B -
(1) AR () A
(3) fagw & @) @t e

Programmed Instruction (PI) is based on :
(1) Trial and Error
(3) Classical Conditioning (4) Operant Conditioning
FHARRE e (o) e v emfa © -

(1) gdierer 3R Ffe (2) oiast=

(3) TR HSIRAMT 4) SAtae HQT=T

(2) Intuition

Which theory of learning is also known as "Molar Theory" ?

(1) Tolman's Theory (2) Erikson's Theory

(3) Hull's Theory (4) Thorndike's Theory

HEw & e Resia & o) ks & 99§ W@ S s 7
(1) s Hr Rsia ) oReEs & Risia

() & FH fsid (4) efeTEh BT Rysia

In Gagne's Nine steps of instruction, the internal process called semantic encoding is
associated with which instructional event ?

(1) Gaining attention (2) Presenting stimulus

(3) Providing learning guidance (4) Eliciting performance

T B Pl & A ol #, Rifed TRIRT T SR AT e Rl
g F JE gg R 7

(1) == STl &1

() Rrrer ARfes SeT BT

(2) ScaTEs ST HIAT
(4) WM B AT BT

P.T.O.
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¢ of fi es of creativity is
7. According to Simpson, the comect sequence of five stag tyis :
47. According to S1mpsei . i
i and [lumination
(1) Incubaton. Revision, Evaluation. Preparation,
tion. lllumination, Evalu

tion, and Evaluation

ation, and Revision
(2) Preparation. Incuba )

isi cparati ina
uhation, Revision, Preparation, Numi
(4) Preparation, Revision. Evaluation, Incubation, and Ilumination

y@ﬁaﬁuﬁg&%ﬂ%ﬁa&ﬁmﬁﬁw”

e 3 3

(3) Inc

48. Which among the following level is considered severe hearing impairment ?
1} 2010 40 dB in the better ear

(2} 41 w0 33 dB in the better ear

3} 3610 70 dB in the better ear

(4; 7110 90 dB in the better ear

FemEa 5 F Y WX # TR SEeT eIy T oy 7
1) Z=a7 3M T 20 § 40 4

41 § 55 <

56 7 70 S

4) =277 29 3 71 § 90 €y

|

A
:‘j‘
£
)¢

l:b
()
\1‘
£
e

49. The leamning disability in writing is known as -

a U\ , (2) Dysgraphia
) Dyslexiz
e (4) Dyspraxia

- 2 W@aﬁﬁ
(3) FE=ATFT ‘
(4) _wdw_ﬁmﬁy

PHD/URS-EE-2022/(Education JSET-Y)/(py)
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D

PHD/URS.-EE-2022/(Education)(SET-Y)/(D)

50.

51.

52.

53.

54,
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Which among the following is nof 5 projective technique ?

1) Word associationn test
1 (2) Rorschach Ink-blot test

(3) Thematic Apperception test (4) Situational test
Frafeied & & -1 5@ qwde 7273 2

(1) o qre= qdeyor DI R ——
(3) Foroerer ey fiaror (4) Refforrr wiager

Who argued that classes develop in market economies, in which individuals compete

for individual gains ?

(1) Carl Marx (2) Sorokin (3) Talcott Parson (4) Max Weber

fra T Rar &% o orfaaeet § g4 g S e o
AR A B e et e § 2 ﬁ BRI

(1) Bt 76" (2) ARIfBT (3) Tl 9T (4) Vg Aaw

Who wrote the book "Democracy and Education” ?

(1) Aristotle (2) Plato (3) Dewey (4) Huxley
‘S Us TIHIM’ GEih e el ?
(1) Sy (2) =Y (3) = (4) s

Which article of the Indian constitution talks about the "prohibition of engaging a child
below the age of 14 to work in any factory" ?
(1) Article 15 (2) Atrticle 21 (3) Article 24 (4) Article 35

ARAT R B B § oTgeds 14 a9 | BH 3W P g= H G A
PR F HF q¥ T G AH’ P aR F a6 Hr & ?

() rg=Bs 15 (2) ogWa 21 (3) ’IDBT 24 (4) I’FVT 35

Which constitutional amendment made education a fundamental right in India ?
(1) 81st (2) 84th (3) 86th (4) 88th
R wifem wofem 3 wWRa § R & Afw AR o ?

(1) 814t (2) 844t (3) 864 (4) 88t
P.T.O.
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55.

57.

D

titution advised that at least primary educatiop b

Which article of the Indian cons

imparted 10 the mother t©

nguc ?
(2) Article 51A
(4) Article 351A

ym&mmﬁﬁm&iw@ﬁwﬁﬂﬁ?ﬂg

(2) o =% S1A
@) Tg=w 351A

(1) Article 21A

(3) Article 350A

Which among the following is nof a direction of development ?

(1) Functon precedes structure

2} Concrete to Abstract

(3) Egocentrism to Perspectivism

(4) General to Specific

AT § 9 SF-91 e @ Rem T8 ?
HLI | 9B B @

)5 H @Hm%

(1) =4,

Which stage of social and emotional development corresponds to adolescence ?
(1) Autonomy Vs. Doubt

(2) Industry Vs. Inferiority

(3) Identity Vs. Identity confusion

(4) Initiative Vs. Guilt

.-j.-a%ﬂﬁﬂﬂﬁﬂ@ﬂﬂ&%:%aﬁﬁﬁmm%ﬁg@wﬂ@%ww
(1) === 299 o1

(2) == == Eee

(3) 7=Za= T T=Ee qq
4) =7 79 sy

PHD/URS-EE-2022/(Fd ucation)(SET-y (D)

58.

59.

60.

61.
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[n which of the following stage of development, 4
nm<mﬁwm€mma\ ?

(1) Sensorymotor stage

child learns about classification and

(2) Pre-operational stage
t erational
(3) Concrete operational stage (4) Formal operational stage

frepr B FrIRET § e o R .

5 s 7 q T FieT S SR $ A
(1) GIAET UTH TR
(3) Td AREET e

2) S-3ffReFe sraer
(4) Ma=nfies afam™ sEer

Which component of language development refers to rules of appropriate and effective
communication ?

(1) Phonology
(3) Syntax (4) Morphology

g7 B B B B AT geh IR AR THRT GUR B et @ dqerdd
HT B ?

(1) @z &sm=
(3) e

(2) Pragmatics

(2) AEBIRHAT
@ AP FE=

Two factor theory of intelligence was proposed by :

(1) Spearman (2) Guilford

(3) Stenberg (4) Binet

IR H &N HRP Rsia T At =T A

(1) ==mT 8™ ) e g
(3) Vst '™ @) Fee =

Which among the following is not a type of probability sampling ?
(2) Quota sampling

(4) Multi-stage sampling

(1) Simple Random sampling
(3) Cluster sampling
Freffer & @ @i a1 st SR @1 SR 7 e 7
(1) W argRes FaRiT (2) et FHT

(3) FrRex FaRfr (4) FA-T T
P.T.O.
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18 as a characteristic of g good

. < ¢ among > wing 1S EQ& OQCW—QO—.QQ
N T the wC——C g
62 Vhi h on g

sample ? %) Representative

(1) Adequate (4) Small
(3) Unbiased & QA & ®9 H TET " S R
_ﬁ IRLEl 4 oreT

§3. When two questions are merged in one item of a questionnaire, such item is knowp
. en S

leﬂ ” . .
(1) Loaded Question (2) Leading Question

(3) Double Barrel Question (4) Conceptual Question
nﬂ%w@ﬂw&nwﬂﬂgﬁﬂgiw*mwgﬁ

S

Hedl & -

(1) = S ) wrll 531

(3) S99 XA uH @) F=i w2

64. To collect the information about the infrastructure facilities in a school, which of the
following tool is the most appropriate ?
(1) Questionnaire (2) Schedule
(3) Checklist (4) Opinionnaire
TF A ghEEl giaet B e umhy w B g, e ¥ ¥ @ o
I Y I9GH 8 7

(1) ST 2) Tz
(3) =i (4) T gs=TEe

mo.da m(‘w-vo_a EnnmmoanmziEo:Eo 5868810:mm_uomumao:ncmmoaos
summative scores, is known as : :

(1) Likert scale
(3) Thurstone scale

(2) Guttman scale
(4) Semantic differential scale

TE-TET T B e Ay of
wunnl:u:ﬂﬂwﬁw STl & MR WX aEwer @ e B, e B

(1) 71%2 =
(3) o= =
PHD/URS-EE-

@ T S

@) e EwiRrm @
2022/(Ed ucation)( SET-Y)/( D)
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67.

68.

P
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Which among the following is considered as a true-experimental design ?
(1) X0 (2) 0-X-0
3) 0-X-0 4 010,030405-X-040,050,0,0
0-C-O
preffad # A 58 P T=-0e ResT $ w9 § qen o 2
(1) X-0 (2) 0-X-0
(3) 0-X-0 (4) 0,0,0,0,05-X-060,05050,¢
0-C-O
Which among the following is not a method to control extraneous variables ?
(1) Elimination (2) Balancing
(3) Randomization (4) Time scaling
Frafafad & & H-91 9Bd =X B FEET FE B e 7@T R ?
(1) ST (2) Hge
3) YsHIESIRE (4) =TT BT
Which among the following is not true about a null hypothesis ?
(1) It can be tested statistically.
(2) It can be directional in nature.
(3) It signifies no difference.
(4) It signifies no correlation.
Fr=ifafaa & @ Ha-a1 g aRecdTT  9R § ' 78T 2 7
(1) 38 wiRerbg =g § gx@n o qHAT |
() =& wHpfa F Remes & FEHA B
®) @& g aiax =& T 21
@ =E B wefer & qeriar ¥
P.T.O
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69.

70.

71.

Which amone the following factors affect the internal validity of research results 9

(1) Prior knowledge about the subjects
(2) Carrvover effect

3) Experimental mortality

(4) Aruficial situation ,
|

Praian SR § & A1 HRE AN MO B ARG A9 B gy
;,_m_.ﬂﬂd_,m)mm._wmm,%ﬂ.ﬂ
(2) HAER T99

(3) sEES g X

(4) BEE ™

A smdy in which the cause-effect relationship is studies but manipulation of
independent variable is not possible, is known as :

(1) True-experimental design

(2) Solomon four group design

(3) Ex-post facto research

(4) Quasi-experimental research

TF F=EA S99 SRO-TAE G BT HGIT BT ST & dAlh @as '] &l
Sgei 599 A8 8, 1 & =9 § w1 o ©
(1) F=-aE S

b/

X

‘nich among the following is nof a standard score ?

(1) Z-score

(2) T-score (3) C-score (4) P-score
AT O 7 quﬂ‘lﬁ.— A% .mﬂvJA. N%,W ?
(1) rz-=2r (2) F1-w=pr (3) -=pR 4) q-hi

PHD/URS-EE-2022/(Education)(S ET-Y)/(D)
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7. What is basal age ?

( :. The age calculated from date of birth

(2) The age, up to which all questiong are bein
& attempted by a studen op p;
ton Binet test

) astudent
(4) The age ratio of mental age and chronological aoe

ﬂﬂ%wmﬂ._ww
(1) Mg H TOFT 5 Ry & ) oy 2

@a@mﬂmﬂ@amwamwéﬁﬂﬁniﬁﬁmg%
g

vaﬁ%@%ﬁgggﬂﬁﬂﬂaﬁiﬁuﬂw
Agvﬂﬂﬂﬁm%ﬂm&agﬂmﬁzagﬁa

Which among the following is not the correct matching of factors in Cattell's 16 PF

(3) The age, below which all questions attempted by Bi
on Binet test are correct

&1

73.
Questionnaire ?
(1) Humble-assertive (2) Trusting-suspicious
(3) Placid-controlled (4) Expedient-Conscientious
fFrfafaa § 9§ H9-d1 I B 16 diuw HeEc § BRET H gel HAE TET
g2 .
(1) fasg-ger

(3) a-FEREE

() faam HEER-HRTE
(4) AFRTRB-ZHR

Which among the following is not a disadvantage of interview ?

(2) Inherent variation in context

74.
(1) Interviewer variability

(3) Recording information (4) In-depth information

Rreifef & & d-a1 i @ o 7 e
(1) wrreprepat sRadadar () Fd e
(3) ReféT sl (@) et

PHD/URS.EE.-2022/(Education) SET-Y/(D)

P.T.O.
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75. Ina sociogram, who is referred as a clique -

76.

(1) The subject nit being chosen by anyone in group.
(2) The subject, who do not choose to anyonc.

(3) A structure, in which three are more persons choose cach other.
(4) Two members, choose to each other only.

o gEEE §, Y e Fer o @ ?

(1) @55 F Rl B &R g o <@ SrHeyet e

() frva, < e @ R T8 g

(3) T HE, s diF @ ot @Rh Th-gER Bl gd 8 |
4) & goE, Bad TH-gER B g &

Which among the following is rot correct about descriptive statistics ?
(1) It describes basic features of data.

(2) Graphical representation is a kind of descriptive statistics.

(3) Variation in data is represented through descriptive statistics.

(4) Hypothesis testing is an example of descriptive statistics.
Fr=arad § F HE-91 gUEEE ofiwst AR H Fel 787 o ?
(1) =& 321 & FrEE FHREdrel & qoiF Har 8|

(2) FEE=E 9RIHRE T 9K S qUHTESD 3ihs & |

(3) Ze1 F fa=rar 1 avires offdst & Aream & gifar T B
(4) 9T 980T JUHTES 3iThsSt Bl THh IEEIT 2 |

Which among the following is not an inferential statistic ?

(1) Median (2) Chi-square

(3) ANOVA (4) Regression analysis
FAerET § A BHE-A1 TS oTibel 78 L 2 (
(1) =z (2) BE-wHEER

(3) meTET (4) SfeFT RreqveoT

PHD/URS-EE-2022/(Education)(SET-Y)/( D)

78.

79.

80.
(1) 13.59%

81.

D

Which among the following is 5 Parametric sty 23
daf]

(1) Median test stic ?

@) Chi-square teg

3) Pearson's r @ Hiey
et MM BI-AT Wiz St ®
(1) wfegeRT ateror Q) =

Iﬁﬁ._ﬁﬂ. ﬂ.m_ﬁd—
(3) forel 1 o (4) T ey

In a study, if the data is collected in form of Ny
selected randomly, which of the following test
difference between two sets of samples on a variabe 2

(1) Chi-square (2) Pearson's r

(3) ANOVA (4) ttest

up IS H, %wﬂﬁgﬁv&ﬁamaﬂ@ﬂﬂﬂw%ﬂﬁ
%ﬁa@&%@ﬂﬁﬁ%?ﬂm@%@%@ﬂﬂﬂ%
& & Al B 9= Tl AR F @ B Rg swd B o g S 2

(1) PE-EEER ) FET &1 I’

(3) T @ A=

What percentage of cases will lie in a normal distribution between 0 and —16 ?
(2) 34.13% (3) 47.72% (4) 68.26%

0 oIR -lo & & gm= faaver & fae wfawa da9 & ?

(1) 13.59% (2) 34.13% (3) 47.72% (4) 68.26%

Which among the following word is not part of the definition of education given by

Pestalozzi ?

(I) Natural development (2) Harmonious development

4) Progressive development

(3) Social development @ R @ oA F IE331)

Prfufag § @ dm-ar o e g7 &

TEF ? ? .
(1) st e () s R
(3) |rnfers fpr (4 e 10

, Ecazw.mm-NSN\ae_smeimE.s\ev
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82.

Which among the following aspects of philosophy deals with teaching ang _omsm:m »
(2) Epistemology

(3) Axiology Ev. Aesthetics

= @ Preiad qegell § @ Pi-a1 RET ol @iem | e 3 -

() S (2) STTHHET

3) eg-HiE (4) Qiedamen

(1) Metaphysics

Which among the following is nof an idealistic thinker ?

(1) Spinoza 2) Descartes (3) Hegel (4) Dewey
Fratad ¥ § B 0% oeeEr e 78§ ?
(1) Rg=T (2) Bt (3) = 4) 3&f

Which among the following is rot true as per idealism ?

(1) Ideas are the expression of minds.

(2) Truth is an individual value.

(3) Self-realization is the goal of life.

(4) Intuition is the way to know the ultimate reality.

TYEE B AR FreRRad § @ BN 91 9 78 D ?
(1) F= 99 1 A¥eERs g1

(2) 57 TH ARG geF B

(3) FAFT-AEHR SET BT =g 2|

(4) FTEE 9 IAEBAT B AT BT A D |

'hich among the following is true about realism ?
(1) Education is the ultimate product of life.
(2) Education has common/general aims,
(3) It accepts the existence of abstract things.
(4) World around us is the world of objects and not of ideas.
uﬂﬁﬂ%%m?ﬂ@@mm@%ﬁ e e ?
(1) To/1 == 21 st 3ae 3
(2) mﬁawﬁmﬂs\ﬁﬂﬂ%ﬁw_
(3) 7= 7t ampst AT B @BR F7ar 3
) 7Aoo % 1 R e
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87.

88.

89,

) -

In the concept of 'complete jify Suggesteq )

following is not a specific objective 9
(1) Spiritual knowledge
(3) Upbringing children
gedfd T a0 e
o fafdTe IBeT TEF R 7
(1) smeATca S

(3) a== B GRART

(2) wmz.?nwozmzoz
4) Enjoymen; of leisyre

M&mﬁmﬂ\mﬂﬁﬂjﬂwﬂﬂg’ﬁﬂm@mﬁwﬂnﬁ

) -z
@) sy a5 .
The attitude of placing the child at the center of the teaching-

learning process is known
as:

(1) Phallocentric attitude (2) Paidocentric attitude

(3) Learning-centric attitude (4) Naturalistic attitude
eI 1 TP & B2 F a9 @ B oy e 3 -
(1) Felrdfsss gl (2) ¥R arhy

(3) srferm-SfEa SRy (4) SR siftghy

Which idea propagates "whatever fulfill our purpose, satisfy our desires, and develop
our life is true" ?

(2) Humanistic Pragmatism

(3) Experimental Pragmatism (4) Biological Pragmatism

BT RER J=R a3 B S g8 W TR RW & [ B E, F
TS I [T HIAT B, SR TAR S H BRI et 8 I 7 &7

(1) ST e (2) AFERET SHEEBT

(3) SIS SEEREBT (4) S eI

(1) Socialistic Pragmatism

9
Which among the following books, is nof authored by uo.:a Dewey
(2) How we think

@) Reconstruction in Society
3 g 7@ q_“w g7

() & &8 |

@) I | gefErT

(1) Democracy and Education

(3) Human Nature and Conduct
Frfemee % & @m-at g ST
(1) Wrepci o fRwn

Q) 7T @wE R R P.T.O.

Ecazm-mm-ss\a&_sg__vaE, -Y)/(D)
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Who is considered as the propounder of Nyaya Darshan ?

(1) Gautama (2) Kapila
(3) Paranjali (4) Jaimini
=19 RIF H 9oET B9 qET ST 8 ?

(D) e @) Hhw

(3) SO 4) S

In CIPP model of curriculum evaluation, CIPP stands for :
(1) Context. Input, Process and Product

(2) Curriculum, Instruction, Programme and Process

(3) Curriculum, Instruction, Process and Product

(4) Context, Input, Programme and Process

SIe=Al gedidT % CIPP #isa &, CIPP &7 off & -
(1) &s9, ERNC qihAT IR IqTE

(2) Tro=r=El, MR, SriEHT oK uhear

(3) Tic=r=4T, ey, n._.wvlﬁ 3T 3@

(4) F5¥, 9Ye, HEHT AT uipar

Which among the following is
model ?

(1) Learning
(3) Instruction

not a level of curriculum evaluation in Kirkpatrick

(2) Behavior
L (4) Reaction
T B BB AeA F rewreat qeiT B oww 7@ R ?

B

(1) Jrz=m @

(3) =201 @) st

;E”Ea the focus of the guidance is the individyg] not his problem ... "

(1) Traxler (2) Jones .
P (3) Crawford (4) Ruth Strong

AT A A e 2, v e o,

(1) zz717 (2) =g (3) =iews

Y)/(D)
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94. which one of the following is an objective of guidance at primary leve] 9
(1) To instill in the students a sense of cooperation ?
(2) To aid students in choosing their subjects for study
(3) To motivate students to take more part in curricular activities
(4) To help students in tackling the financial problems
frfaiae & & -1 e @) w fRRee a5 g2y 2
(1) BET § FSANT & AT Yo7 T
(2) BET B I B T o7 Rvg g2 F gewar s
(3) BEIT HI Urea=al MRRET # oftrs wrT oF B R 9k
(4) BT B O<ig qEenedl @ e § #eg w3

95. Which among the following is rnot among the core guidance service ?

(1) Orientation service (2) Pupil inventory service

(3) Placement service (4) Health-checking service

FreRifed & ¥ -t g Ariee dar & ¥ 7@ E 7
(1) srRif=amE {ar () o= g da
(3) @Ede dar (4) w@reeA S qdT

96. The source of occupational information, which is an account of one's life and how

he/she got success in the career, is known as :
2) Occupational Guide

(1) Occupational brief
(4) Vocational Fiction
%ﬁ%gw%ﬁﬂ@@n%@w%mﬁwoﬁw
ST 1, Y ST S @
(2) SAEHEH TES

(4) TS B

(3) Biography

e SIS B
HET § Fwadr B

(1) = S
(3) SfE=it

P.T.O.
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97. The counselling, where the client is helped to himself. Client is allowed free expression
and the counscllors only direct and guide, is known as : .
(1) Directive Counselling (2) Non-directive Counselling
(3) Prescriptive Counselling (4) Eclective Counselling
TS, et UTew @i @H H Hag Bl ok B FIRE B OGN AERe 9
AFAR B ol WmsTerr Saw wrer o Anfee & B, 38 59 &9 § iy
ST B |

(1) FERTTs wxrst (2) SAFRETHS gIHT

(3) SR Xt (4) Bfeqer axrmst
98. Who is known as the father of elective counselling ?

(1) I. Dave (2) F.C. Thorne

(3) E. G. Williamson (4) Carl Rogers

IBITH Tt B e B wT F Y AT ST T ?

(1) o 29 (2) Tho Hio A

(3) %o Sio RfermeT (4) @t JeTd

99. According to Rogers (1957), "the process to help client to explore new themes,
problems, and feelings in his or her awareness” is known as :

(1) Primary Empathy (2) Secondary Empathy
(3) Advanced Empathy (4) Emphatic Report

ST (1957) & OTER, “Fedh H IeH SIFEhal § wu Rred], qeemai o
HEAISAT BT GAT T F AT B B AHAT B w9 F ST oy D -

(1) s FerggfT (2) At Tergfy
(3) I~ FergHf 4) ghfaa fRae
100. In the TAPS model of guidance and counselling, P stands for :
(1) Person (2) Process (3) Problem (4) Prescription
Ariee™ o wymsl & dudieg dfew &, © F ofmmE -
(1) =afn (2) sfspaT (3) wF&n (4) Freior
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